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Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student 1immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

E1547524501. 1
61547524502 2
61547524503, 3
61547524504, 4

Question Number : 1 Question Id : 6154756283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547524502. 2
61547524503, 3
61547524504, 4

Question Number : 2 Question Id : 6154756284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learning, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

61547524505, 1
61547524506, 2
E1547524507. 3
E1547524508. 4

Question Number : 2 Question Id : 6154756284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524505, 1
61547524506, 2
61547524507, 2
61547524508, 4

Question Number : 3 Question Id : 6154756285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contrbutive to increased levels of students’

self esteem and positive attitude

Options:

61547524509, 1
61547524510 2
61547524511, =2
61547524512 4

Question Number : 3 Question Id : 6154756285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524509, 1
61547524510, 2
61547524511, 5
61547524512 4

Question Number : 4 Question Id : 6154756286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
615475245131
61547524514 2



E1547524515. 3
B1547524516. 4

Question Number : 4 Question Id : 6154756286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524513, 1
61547524514 2
61547524515 =
61547524516 4

Question Number : 5 Question Id : 6154756287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

E1547524517. 1
E1547524518. 2
61547524515 3
61547524520, 4

Question Number : 5 Question Id : 6154756287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524517, 1
E1547524518. 2
61547524519, 5
61547524520 4

Question Number : 6 Question Id : 6154756288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

61547524521, 1
61547524522 2
61547524522 2
61547524524, 4

Question Number : 6 Question Id : 6154756288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547524521, 1
61547524522 2
61547524523 3
61547524524 4

Question Number : 7 Question Id : 6154756289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

61547524525, 1
61547524526 2
E1547524527. 2
61547524528, 4

Question Number : 7 Question Id : 6154756289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524525, 1
61547524526 2
61547524527, 2
E1547524528. 4

Question Number : 8 Question Id : 6154756290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction 1= concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

E1547524529. 1
B1547524530. 2
B1547524521. 3
61547524532, 4

Question Number : 8 Question Id : 6154756290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524529, 1
61547524520 2
61547524531, =
61547524532 4

Question Number : 9 Question Id : 6154756291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547524533. 1
61547524534, 2
61547524535 3
61547524556, 4

Question Number : 9 Question Id : 6154756291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547524533. 1
61547524534, 2
61547524535 3
61547524536, 4



Question Number : 10 Question Id : 6154756292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1n a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

61547524537, 1
61547524528, 2
61547524539, 3
E1547524540. 4

Question Number : 10 Question Id : 6154756292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547524537. 1
E1547524538. 2
E1547524539. 3
61547524540, 4

Question Number : 11 Question Id : 6154756293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1z

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

E1547524541. 1
B1547524542 2
61547524543, 3
61547524544, 4

Question Number : 11 Question Id : 6154756293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547524541. 1
615475245472 2
61547524543 3
61547524544, 4

Question Number : 12 Question Id : 6154756294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E1547524545. 1
E154752454E. 2
B1547524547. 3
61547524548, 4

Question Number : 12 Question Id : 6154756294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547524545. 1
E154752454E. 2
B1547524547. 3
615475245458, 4

Question Number : 13 Question Id : 6154756295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



B15475245459. 1
61547524550, 2
61547524551, 3
61547524552, 4

Question Number : 13 Question Id : 6154756295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475245459 1
61547524550, 2
61547524551, 3
E1547524552. 4

Question Number : 14 Question Id : 6154756296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and (D (4) (a). (c) and (e)
Options:

61547524553, 1
E1547524554. 2
E1547524555. 3
61547524556, 4

Question Number : 14 Question Id : 6154756296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 15 Question Id : 6154756297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A) : The spoken and written words are two media of many available for
communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



B1547524557. 1
61547524558, 2
61547524555, 3
61547524560, 4

Question Number : 15 Question Id : 6154756297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524557, 1
61547524558 2
£1547524559 =2
61547524560, 4

Question Number : 16 Question Id : 6154756298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547524561, 1
61547524562 2
61547524563 2
61547524564 4

Question Number : 16 Question Id : 6154756298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524561, 1
E15475245E62. 2
61547524562 5
61547524564, 4

Question Number : 17 Question Id : 6154756299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

61547524565, 1
61547524566, 2
E1547524567. 3
E1547524568. 4

Question Number : 17 Question Id : 6154756299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 160 (2) 384
(3) 450 (4 434
Options:

E1547524565. 1
E1547524566. 2
B1547524567. 3
61547524568, 4

Question Number : 18 Question Id : 6154756300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 15 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

E1547524569. 1
B1547524570. 2
61547524571, 3
E1547524572. 4

Question Number : 18 Question Id : 6154756300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547524569. 1
B1547524570. 2
61547524571, 3
E1547524572. 4

Question Number : 19 Question Id : 6154756301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain code "CREDIT" 12 written as "EPGBEKR" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (49) FCDVG



Options:

61547524573 1
61547524574 2
E1547524575 2
61547524576, 4

Question Number : 19 Question Id : 6154756301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T ey =
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(3) FCDGV (4) FCDVG
Options:

615475245731
61547524574, 2
61547524575 3
E1547524576. 4

Question Number : 20 Question Id : 6154756302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3. sH5. aL7. :

(1) P9 (2) TRH9
(3) TN 4 7L9
Options:

61547524577, 1
61547524578, 2
E1547524573. 3
E1547524580. 4

Question Number : 20 Question Id : 6154756302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 ™ FW F1 ATTH 9 T 7

65 | 3 I W] B

(1) P9 (2 TR9

(3) TN9 (4 TL9
Options:

61547524577, 1



B1547524578. 2
B1547524575. 3
61547524580, 4

Question Number : 21 Question Id : 6154756303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

61547524551, 1
E1547524582. 2
BE1547524583. 3
61547524584, 4

Question Number : 21 Question Id : 6154756303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547524581. 1
61547524582, 2
61547524583, 3
61547524554, 4



Question Number : 22 Question Id : 6154756304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E1547524585. 1
E1547524586. 2
B1547524587. 3
61547524588, 4

Question Number : 22 Question Id : 6154756304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 fasieEl 38 TR H Hetad 7 " 261 39T 99 5 ghdl 2 9w d

(1)  37tEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

51547524585, 1
61547524586, 2
G1547524587. 3
61547524588, 4

Question Number : 23 Question Id : 6154756305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

615475245859, 1
61547524530, 2
61547524531, 3
E15475245582. 4



Question Number : 23 Question Id : 6154756305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UHT AR aar, T9EH A HURY R PREl U S9R G 3 YR B AW o W B,
fAeATTha W o TReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR TAAHTE

(d)  ATHHEEN

fr=fefaa 9 9 92 faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

615475245859, 1
61547524530, 2
61547524531, 3
E15475245582. 4

Question Number : 24 Question Id : 6154756306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547524593, 1
61547524594 2
61547524595 =
61547524596 4

Question Number : 24 Question Id : 6154756306 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T WO % SEN, A % G2l H a9 H R H wE aE A v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFHFAMEEE
Options:

61547524553 1



B1547524594. 2
61547524585 3
61547524556, 4

Question Number : 25 Question Id : 6154756307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547524597, 1
61547524598, 2
61547524599, 3
61547524600, 4

Question Number : 25 Question Id : 6154756307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
1547524597 1
E1547524598. 2

61547524599, 3
E1547524600. 4

Sub-Section Number: 2
Sub-Section 1d: 615475280
Question Shuffling Allowed : Yes

Question Id : 6154756308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five years (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154756309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 250 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

E1547524601. 1
B1547524602. 2
61547524803, 3
61547524604, 4

Question Number : 27 Question Id : 6154756310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (in crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547524605, 1
E15475246086. 2
E1547524607. 3
61547524808, 4

Question Number : 28 Question Id : 6154756311 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that yvear? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547524605 1
61547524610, 2
61547524611, 3
E15475246172. 4

Question Number : 29 Question Id : 6154756312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T
(3) 13%% (4) 14%%

Options:

61547524613, 1
61547524614 2
61547524515 2
61547524816 4

Question Number : 30 Question Id : 6154756313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

615475248171
61547524618, 2
61547524619 2
61547524620 4

Question Id : 6154756308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 5. ") F A= § o arferm W B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154756309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HerE ha W R 91 s w29 1 Fer A 385 WS A17
(1) 5103 %, (2) 280 FTE.

(3) 160 Fs 7. (4) 125 F3 %,
Options:

61547524601, 1
E1547524602. 2
61547524603, 3
61547524804, 4

Question Number : 27 Question Id : 6154756310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR S D H 29709 SHId %A% 4 : | s 1 : 22 Al sHiad gy F e D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547524605, 1
61547524606, 2
61547524607, 2
E1547524808. 4

Question Number : 28 Question Id : 6154756311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 3% 27 E %1 2010 § U 70 Fer @ ° 20 viae
AT 2 a1 A 1 2013 H Pl a1 @9 A1 IS SHRT 39 99 ATE 92 HS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547524609, 1
E1547524610. 2
61547524611, 3
BE1547524612. 4

Question Number : 29 Question Id : 6154756312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 990 SE) ° e st 2 e

7

(1 13-

= 1

3) 132%
7

Options:

61547524613, 1
61547524814, 2
61547524615, 5
61547524616, 4

Question Number : 30 Question Id : 6154756313 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-L¢
) T
(4) 14%%

9 2009 F 2011 7 Tl T F AAE H Fe AR et g

(1) 35%%
(3) 4D§%

Options:

61547524617, 1
61547524818 2
1547524819 2
61547524620, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154756314 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475281
Yes

(1) Information. Bits
(3) Data. Information

Options:

61547524821, 1
61547524622, 2
61547524623 o
61547524624, 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154756314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Falw Tfea 3790 ATRST 7
(1) 3=, foed (2) Towiza, sE2E
(3) =@, GEAl (4) T=, Toanten

Options:

61547524621, 1
61547524622 2
61547524523 2
61547524824 4

Question Number : 32 Question Id : 6154756315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

61547524625 1
E154752462E. 2
E1547524827. 3
E1547524628. 4

Question Number : 32 Question Id : 6154756315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 F=-H Gu=v A FETEE AR UEE il B 7

(1) =i o0 (2) e 2T
(3) = zE= (4) Huafzw s1ifes 20
Options:

61547524625 1
E1547524626. 2
B1547524827. 3
B1547524828. 4

Question Number : 33 Question Id : 6154756316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syatem (4) Software System
Options:

61547524629 1
E1547524630. 2
E1547524621. 3
BE1547524632. 4

Question Number : 33 Question Id : 6154756316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3 FHA-H1 UF FEgZ ARG IO 2 7 39 ATRS] i GulEd w4l 7 AR T Asars Fwdl
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(1)  =reEy ey (2) Hiifers geaT ToTE
(3)  HITeT womed (4) ETFEEE s
Options:

61547524629 1
E1547524630. 2
E1547524621. 3
BE1547524632. 4

Question Number : 34 Question Id : 6154756317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

61547524633, 1
615475246834, 2
61547524635, 3
61547524636, 4

Question Number : 34 Question Id : 6154756317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



VDU f=fetfiga 1 4 foraer dfem am 27
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Options:

61547524633, 1
61547524534 2
61547524835 2
61547524626, 4

Question Number : 35 Question Id : 6154756318 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30™ November
(3) 28d December (4) 23" December
Options:

61547524637, 1
E1547524638. 2
E1547524639. 3
E1547524640. 4

Question Number : 35 Question Id : 6154756318 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 famm (4) 23 fgE=
Options:

E1547524637. 1
E1547524638. 2
61547524635, 3
61547524640, 4

Question Number : 36 Question Id : 6154756319 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Eeason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not discriminate between people of a society and

other communities.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

£1547524641. 1
61547524642, 2
61547524642 o
61547524644 4

Question Number : 36 Question Id : 6154756319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E1547524641. 1
B1547524842 2
61547524843 3
61547524644, 4

Question Number : 37 Question Id : 6154756320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-2015
Options:

61547524645 1
E154752464E. 2
61547524647, 3
E1547524645. 4

Question Number : 37 Question Id : 6154756320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATE TIEHRIe & Aad 37 ARG dT FEE THEE + 99 g #hd TE 1H Soaed & form gem
TiaEgT A F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547524645. 1
E154752464E. 2
B1547524647. 3
61547524648, 4

Question Number : 38 Question Id : 6154756321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and (P (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and ()
Options:

51547524649 1
61547524850, 2
61547524651, 3
61547524652, 4

Question Number : 38 Question Id : 6154756321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l
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(b) A
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(1) (a). (). (). (e) =TT B 2 (), (©), (d) =R (e)

(3) (b, (0). (d). (e) 3T () 4)  (a). (). (©). (d). () 31T (f)
Options:

E1547524645. 1
E1547524650. 2
B1547524651. 3
61547524852, 4

Question Number : 39 Question Id : 6154756322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) SoGW
(3) 20 GW (4) 20 GW
Options:

61547524653, 1
61547524654, 2
61547524655, 3
E1547524656. 4

Question Number : 39 Question Id : 6154756322 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

g O T fRa §-ard faea =i gurera 2 7

(1) 10 TrmaTe (2) 5 TTTETE
(3) 20 TrTETe (4) 25 TmEE
Options:

61547524653, 1
E1547524654. 2
E1547524655. 3
B1547524656. 4

Question Number : 40 Question Id : 6154756323 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

B15475246857. 1
61547524858, 2
61547524855, 3
61547524660, 4

Question Number : 40 Question Id : 6154756323 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0
freterfiEa & @ iH-= 919 T 4 Fiaenes (w9 fearsmesd) ¥ 47 wh 2 v
(1)  va==E FomHE 9=
(2)  THEA AEISAEEES

(3) A

(4)  =OIEiE wEE T

Options:

61547524657, 1
61547524858 2
E1547524859 =2
61547524660, 4

Question Number : 41 Question Id : 6154756324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
61547524661, 1

E15475248E62. 2
E1547524663. 3
B1547524664. 4



Question Number : 41 Question Id : 6154756324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524661, 1
61547524662, 2
61547524663 o
61547524564, 4

Question Number : 42 Question Id : 6154756325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547524665, 1
61547524666, 2
1547524867 2
E1547524868. 4



Question Number : 42 Question Id : 6154756325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AHEIE HETeee § gEaE o
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Options:

61547524665, 1
61547524666, 2
61547524667, o
61547524568, 4

Question Number : 43 Question Id : 6154756326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been 1n

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E154752466%9. 1
E1547524670. 2
B1547524871. 3
G1547524672. 4

Question Number : 43 Question Id : 6154756326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E154752466%9. 1
B1547524870. 2
B1547524871. 3
E1547524672. 4

Question Number : 44 Question Id : 6154756327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous soclal affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

B1547524673. 1
61547524674, 2
61547524675, 3
E154752467E. 4

Question Number : 44 Question Id : 6154756327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= Toren = gy 4 faga = =@ i At § Feteiag G o=t i

(@)  Toem Fues 5 2

(b)  Taerfad 2= 9 SeETEqol WETTE HEAT
(d) =AUE =7 H e

(e) a‘-'?-LTFqHT-’HHT

(6 7= T 4 meRn A o e

Hel T =1 999 it -

(1) (a). (¢) ¥ (d) 2 (a), (b) 77 (d)
(3)  (b). (c) #T (&) (4)  (d). (e) ¥ (B
Options:

61547524673 1
61547524674, 2
61547524675, 3
E1547524676. 4



Question Number : 45 Question Id : 6154756328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547524677. 1
61547524878, 2
E1547524679. 3
61547524650, 4

Question Number : 45 Question Id : 6154756328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)
(2)
(3)
(4)

Options:
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B1547524677. 1
B1547524678. 2
B15475248759. 3
61547524650, 4

Sub-Section Number: 4
Sub-Section 1d: 615475282
Question Shuffling Allowed : Yes

Question Id : 6154756329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154756330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

61547524681, 1
61547524582 2
61547524882 2
61547524654, 4

Question Number : 47 Question Id : 6154756331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547524685, 1
61547524686, 2
E1547524887. 3



E1547524688. 4

Question Number : 48 Question Id : 6154756332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E1547524689. 1
E1547524630. 2
B15475248391. 3
61547524852, 4

Question Number : 49 Question Id : 6154756333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

E15475246593. 1
615475246854, 2
61547524635 3
E1547524636. 4

Question Number : 50 Question Id : 6154756334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

615475246857, 1
615475246358, 2



E15475246393. 3
B1547524700. 4

Question Id : 6154756329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154756330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
oeg % 49 TagE #1 Ay 27
(1) =™, 309724 5 U SE B A
(2)  IemeA § 9m i v Himg girw 2
(3)  3FIEA H W T I=49 977 7|

(4) = g9 3 99 ge9 T geeey w5 2

Options:

61547524681, 1
61547524682, 2
61547524882 2
E1547524884 4



Question Number : 47 Question Id : 6154756331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oe1 % oH Tagm o w9 TG % Seqed i aa ATt ®, 91 49 T FA BT

(1) o= (2) Turiia aaEE
(3) TafEa ma=TE (4) I "EA
Options:

61547524685, 1
E1547524686. 2
E1547524887. 3
61547524888, 4

Question Number : 48 Question Id : 6154756332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

;ui-':l d _;'é Sl : '_fﬁ[ Eq q ":F R IER REAEE | r_:.l'-'-r\i é?

(1) FH AHE =l (2) Ao g Fi
(3) =g HufAT i (4) ®9 TofEt H
Options:

E1547524689. 1
E1547524630. 2
615475246831, 3
615475246392, 4

Question Number : 49 Question Id : 6154756333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

sl Tagra &1 =74 s »7an ™ = =t 27

() = (2) #m = wEgEEl
(3) %\ FoUEERT AT T (4) T (sEE) = T
Options:

615475246593, 1
61547524634, 2
61547524635, 3
E15475246396. 4

Question Number : 50 Question Id : 6154756334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (b) =77 (c)
(3)  (d). (e) 7 (D

Options:

61547524697, 1
61547524698, 2
61547524699 2
61547524700, 4

(2) (b, (c) 3 (d)
(4)  (0). (d) #7 (e)

FART II Population Studies

Section Id : 61547586
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475283
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154756335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following states in India has the highest number of districts as per 2011

census?

(1) Bihar (2) Madhya Pradesh
(3) Maharashtra (4) Tamil Nadu

Options:



E1547524701. 1
B1547524702 2
61547524703, 3
61547524704, 4

Question Number : 51 Question Id : 6154756335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T8 2011 F ST % FJHR, YT & F=iortag 7 9 Ry 1sa 1 o i we g9igs 27

(1) faEw (2) T W
3)  TRWg 4) dfHe TS
Options:

E1547524701. 1
B1547524702 2
61547524703, 3
61547524704, 4

Question Number : 52 Question Id : 6154756336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to 2016 Civil Registration System Report. which of the following figures represents
the correct or the closest coverage for India?

(1) 100% (2) 90%
(3) 85% (4) 80%
Options:

615475247051
61547524706, 2
61547524707, 3
61547524708, 4

Question Number : 52 Question Id : 6154756336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T8 2016 F AT T g0 Afoded % IgEr, Fefafies & 8 ®9-97 anwst 9Rd & AR &
TSfien & Hey § wdl 31y 399 g9 Hehe 27

(1) 100% (2) 90%
(3) 85% (4) 80%
Options:

B1547524705. 1
B1547524706. 2
B1547524707. 3
61547524708, 4



Question Number : 53 Question Id : 6154756337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following states in India has the highest percentage of scheduled tribe
population as per 2011 census?

(1) Chhattisgarh (2) Jharkhand
(3) Madhya Pradesh (4) Assam
Options:

615475247051
61547524710, 2
61547524711, 3
61547524712, 4

Question Number : 53 Question Id : 6154756337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T8 2011 F ST F AR, YR & Fefefeg 4 @ 6 usm § sggfen saenfoat #1 afowe @it
27

(1)  sdEre (2) =Es
(3) T uew (4) 3798
Options:

615475247051
61547524710, 2
61547524711, 3
E1547524712. 4

Question Number : 54 Question Id : 6154756338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If F, and F, are the size of population at ages 0 and 4 respectively. then person-years lived

between age 0 and 4 will be

(1) same as average population of ages 0 and 4

(2) larger than the average population of ages 0 and 4
(3) smaller than the average population of ages 0 and 4

(4) nothing can be said about its relationship with average of 0 and 4

Options:

615475247131
E1547524714 2
61547524715, 5
61547524716, 4



Question Number : 54 Question Id : 6154756338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524713 1
E1547524714 2
61547524715, 5
61547524716 4

Question Number : 55 Question Id : 6154756339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following agencies provides district level population projections in public

domain?
(1) Office of the Registrar General of India

(2) Ministry of Health and Family Welfare. Govt. of India
(3) NITI AAYOG

(4) No agency provides data on projected district population

Options:

61547524717, 1
61547524718 2
61547524719 2
E1547524720. 4

Question Number : 55 Question Id : 6154756339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524717, 1
61547524718 2
61547524719 2
61547524720, 4

Question Number : 56 Question Id : 6154756340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following relationship between Annual Geometric Growth Rate (AGGR) and

Annual Exponential Growth Rate (AEGR) 1s true?
(1) AGGR = AEGR
(2) AGGR = AEGR
(3) AGGR = AEGR

(4) Relationship may vary from one data set to another

Options:

61547524721, 1
61547524722 2
61547524723 2
61547524724 4

Question Number : 56 Question Id : 6154756340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aive ST gig & (U S S 37R) 991 a1iNe =RamaehE a1y gig & (U3 St 9R) & o9 Fefaiaa
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Options:



B1547524721.1
B1547524722 2
B1547524723. 3
E1547524724. 4

Question Number : 57 Question Id : 6154756341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per the Sample Registration System (SRS) 2017 data. which of the following states had
higher Total Fertility Rate (TFR) than national average?

(1) Assam. Chhattisgarh and Jharkhand

(2) Chhattisgarh. Jharkhand and Andhra Pradesh
(3) Jharkhand. Andhra Pradesh and Telangana
(4) Andhra Pradesh. Karnataka and Telangana

Options:

61547524725, 1
61547524726 2
61547524727, 2
61547524728, 4

Question Number : 57 Question Id : 6154756341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 379w, adEie 37k gEs

(2)  BEfETe, FEE IR T Wew
(3)  HWGE, YU HR TETHI
(4) Y UG, FAEH AR TETHI

Options:

61547524725 1
61547524726 2
61547524727 2
E1547524728. 4

Question Number : 58 Question Id : 6154756342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which year the ‘Registration of Birth and Death Act’ was passed in India?

(1) 1967 (2) 1968
(3) 1969 (4) 1970
Options:

BE15475247239. 1
E1547524730. 2
B1547524731. 3
B154752473%. 4

Question Number : 58 Question Id : 6154756342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

8 Y 9na § 570 3R gog teegie stfeieam wifta gam an?

(1) 1967 (2) 1963
(3) 1969 4y 1970
Options:

615475247291
E1547524730. 2
E1547524731. 3
B1547524732. 4

Question Number : 59 Question Id : 6154756343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Population stabilisation in India means :

(1) Population growth rate of zero
(2) Achievement of NER = 1.0

(3) Achievement of TFR of 2.1
(4) Achievement of birth rate of 21.0

Options:

615475247331
61547524734 2
61547524735, 5
61547524736, 4

Question Number : 59 Question Id : 6154756343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524733, 1
61547524734 2
61547524735 2
61547524736, 4

Question Number : 60 Question Id : 6154756344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to 2011 census, what percentage of total households in the country reported

dizabled persons?

(1) 8.3 (2) 6.8
@) 7.2 4) 9.1
Options:

E1547524737. 1
61547524738, 2
E1547524739. 3
B1547524740. 4

Question Number : 60 Question Id : 6154756344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=9 2011 T FETVET o SFATAR 9 F T diaerd giEr 8 foem (Fean satw) 27

i1) 3.3 (2) 6.8
(3) T2 (4) 9.1
Options:

E1547524737. 1
E1547524738. 2
B1547524735. 3
61547524740, 4

Question Number : 61 Question Id : 6154756345 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following states has reported the highest number of tribal population in
201172

(1) Chhattisgarh (2) Uttarakhand
(3) Madhya Pradesh (4) Odisha
Options:

B1547524741. 1
B1547524742 2
61547524743 3
61547524744, 4

Question Number : 61 Question Id : 6154756345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) sdmETE (2) ITATEES
(3) U wew (4) it
Options:

B1547524741. 1
B1547524742 2
61547524743 3
E1547524744. 4

Question Number : 62 Question Id : 6154756346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
During which of the following yvear National Health Policy (NHP) was NOT introduced?

(1) 1983 (2) 2000
(3) 2002 (4) 2017
Options:

61547524745 1
61547524748 2
E1547524747. 3
E15475247458. 4

Question Number : 62 Question Id : 6154756346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1983 (2) 2000

(3) 2002 4y 2017



Options:

61547524745 1
61547524746 2
E1547524747 2
61547524748, 4

Question Number : 63 Question Id : 6154756347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to SRS 2019, what 1z the estimated sex ratio at birth for the period 2015-17

(3 yvears) in rural India?

(1) 890 (2) 898
(3) 961 (4) 988
Options:

61547524749 1
E1547524750. 2
B1547524751. 3
B1547524752. 4

Question Number : 63 Question Id : 6154756347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T T YO, 2019 F ISR, 3@ 2015-17 (7 A¥) F fow w9 @ wwg % geiv &7 §
FFATHT for sigam w27

(1) 890 (2) 893
(3) 961 (4) 933
Options:

B1547524749. 1
61547524750 2
61547524751, 3
61547524752, 4

Question Number : 64 Question Id : 6154756348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the latest United Nation's population projections. India 1s expected to surpass
China by which of the following vear?

(1) 2031 2y 2025
(3) 2026 (4) 2027
Options:

61547524753,
61547524754,
61547524755,
61547524756,

[ R



Question Number : 64 Question Id : 6154756348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F TY o AdHdH SHaEA AThHer & AJan Hefohgd § § 58 99 7% 97 & J61 € oW Fwen #1
FUEAT 27

(1) 2031 (2) 2025
(3) 2026 (1) 2027
Options:

B1547524753. 1
61547524754 2
61547524755 3
61547524756, 4

Question Number : 65 Question Id : 6154756349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following indicator will be the most sensitive to measure changes in the age
at marriage of females?

(1) mean age at marriage of females
(2) median age at marriage of females
(3) proportion of females marrving below the age of 18 years

(4) mean age at marriage of females marrving in the age group 15-24 years
Options:

1547524757 1

615475247508 2

E1547524759 2

E1547524760. 4

Question Number : 65 Question Id : 6154756349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ffciiigs Eshas! § & +i7 91 Ghas gigensd) @ 9978 #1377 § TRaa-1 ® a9 & fov aies gdeie
27

(1)  wieens % faar 4 sitea ag
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(3) 13 9% § %u g 7 faar = a7l gleenstt &1 3gaE

(4)  15-24 99 &I g 99z ° f9aw F 9w At % b9 A oited 3y

Options:

61547524757, 1
E1547524758. 2
61547524759, 5
61547524760, 4



Question Number : 66 Question Id : 6154756350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
During which stage of demographic transition. population explosion takes place?

(1) First stage only (2) Second stage only
(3) Third stage only (4) In all the stages
Options:

615475247611
E1547524762 2
61547524762, 3
E1547524764. 4

Question Number : 66 Question Id : 6154756350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5 g - L S NG (e W + r ™ “ L e
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(1)  =hael T2H =10 (2)  “hael TgamE =z
(3)  Fae gAmE = (4) T =wom |
Options:

615475247611
G1547524762 2
E1547524763. 3
E1547524764. 4

Question Number : 67 Question Id : 6154756351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 13 NOT Type-I error in sampling?

(1) When we conclude that difference is significant, but in fact no real difference exists
(2) Rejecting the Null Hypothesis when it 1s true
(3) Wrongly detecting true effect

4) When we conclude that difference 13 not sigmificant. but actually there 1s real
difference

Options:

61547524765 1

E15475247EE. 2

Cl1547524767. 2

61547524765 4

Question Number : 67 Question Id : 6154756351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) <= 79 98 Feed Reed d 1 staw srdyf = 2, wg 9%qq: arafes 3 2
Options:
61547524765. 1
61547524766 2
61547524767, 3
61547524765. 4

Question Number : 68 Question Id : 6154756352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s not ‘non-sampling’ error?

(1) faulty definitions and concepts used in preparing frame and designing questionnaire
(2) faulty data collection due to inadequate training to enumerators

(3) errors caused by taking only a sub-sample of the population

(4) outdated sampling frame

Options:

61547524769, 1
61547524770 2
61547524771, 2
61547524772, 4

Question Number : 68 Question Id : 6154756352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feAfeifEs 9 o F9 wIiaeEs 2 T8 2 7
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(3) "QTETT[ F Fael TF STUGEIA [0 T & FAN THaTA] g‘rF:

(4) T SiaEEa @

Options:
61547524769, 1



B1547524770. 2
B1547524771. 3
B15475247 72 4

Question Number : 69 Question Id : 6154756353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What 1s case-control study?

(1) It aims to know how and who are the people affected with the problem under study
(2) It aims to prospectively study causes of problem in a group of people

(3) It compares two similar groups with and without the problem and studies the factors

affecting the problem

(4) It studies effect of certain interventions in two similar groups of people
Options:

61547524773 1

61547524774 2

61547524775 3

61547524776 4

Question Number : 69 Question Id : 6154756353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FH I IFASTIT FAT & 7

(1) SHF A5G I8 TAET 2 T S5 H A 99 o FE-H @ 0 9 (50 TR v9igd w5 2

(3) T THEN F WY AT IEF 61 D59 O9El A G FAAT 2 991 THEN W 9IS FA 9

(4) & S % o GG TRl A BOT F:AT (STETE) % UHE AT T
Options:
61547524773, 1
61547524774, 2
£1547524775. 3
61547524776, 4

Question Number : 70 Question Id : 6154756354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one 1s most appropriate a about confounding variable?

(1) Confounding variable influences outcome variable

(2) Confounding wvamable influences outcome variable and also influences factor(s)

causing outcome

(3) Confounding variable only influences factor(s) responsible for outcome variable
(4) Confounding variable does not influence outcome variable
Options:

B1547524777. 1
61547524778, 2
E1547524778. 3
E1547524780. 4

Question Number : 70 Question Id : 6154756354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547524777. 1
61547524778, 2
E15475247739. 3
61547524780, 4

Question Number : 71 Question Id : 6154756355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The scatter diagram between two variables from a set of observations 1s shown below.

>/4'\

Whach of the following options 1s a correct statement of their relationships?
(1) Correlation coefficient will be positive
£2) Correlation coefficient will be negative

(3) Correlation coefficient will be zero

(4) One cannot be sure from this scatter diagram
Options:

615475247511

61547524782 2

61547524753 3

E1547524754. 4

Question Number : 71 Question Id : 6154756355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524781, 1
61547524782 2
61547524783 2
61547524754 4

Question Number : 72 Question Id : 6154756356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following 1s not considered as a tool to collect qualitative data?

(1) Focus group discussion

(2) Indepth interviews

(3) Structured household guestionnaire
(4) People’s narrative
Options:

61547524785, 1
E1547524786. 2
B1547524787. 3
61547524788, 4



Question Number : 72 Question Id : 6154756356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

f=feifign § & &8 1o aimgﬁi‘%@?ﬂiﬂmﬂ:{:ﬁmﬁm%?
(1) g 9gg == (wiww g7 femmem)

(2)  TE HIETER (FE )
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d)  H-3meEE (fuew 3 i)
Options:
61547524755 1
615475247586, 2
61547524757 2
51547524788, 4

Question Number : 73 Question Id : 6154756357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i1s not a basis to introduce ‘Health and Wellness Centers’ under

Avushman Bharat Yojana?

(1) Selective ‘Primary Health Care’ approach in the past
(2) Rising cost of care on account of chronic diseases
(3) Need of ‘Comprehensive Primary Health Care’ approach

(4) Focus on ‘Reproductive and Child Health’ no more required
Options:

61547524759 1

61547524730 2

E15475247391. 2

E1547524792. 4

Question Number : 73 Question Id : 6154756357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547524789, 1
61547524730 2
E1547524791. 2
61547524792, 4

Question Number : 74 Question Id : 6154756358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which is not supported by the Govt of India to transform Primary Health Centres (PHCs) to
Health and Wellness centres?

(1) Training to PHC staff

(2) Equipment for wellness rooms

(3) Upgrading laboratory and diagnostic services

(4) Opening of day care centres

Options:

615475247453 1
61547524794, 2
615475247395 5
61547524796, 4

Question Number : 74 Question Id : 6154756358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



B15475247393. 1
B15475247354. 2
61547524735 3
61547524736, 4

Question Number : 75 Question Id : 6154756359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is not true about ‘Ayushman Bharat’ Scheme?

(1) It propozes about 1.50,000 Health and Wellness Centres in the country

(2) Prime Minister Jan Arogya Yojana (PMJAY) 1s part of the ‘Ayushman Bharat

Scheme’
(3) Health and Wellness Centres will be established only in rural areas of the country
(4) The scheme will transform existing sub-health centres and primary health centres

into ‘Health and Wellness Centres’ in the country

Options:

61547524797, 1
61547524798, 2
61547524739 2
61547524800 4

Question Number : 75 Question Id : 6154756359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524797, 1
615475247398 2
E1547524799 2
61547524200, 4

Question Number : 76 Question Id : 6154756360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one i1s not true about entitlement of pregnant women under the ‘Jananmi Shishu

Suraksha Karvakram (JSSK) scheme?

(1) Free and cashless delivery
(2) Free diet during stay at health institutions
(3) Free transport for sick new-borne till 30 days after birth

(4) free ultrasound and other investigations at private empanelled hospitals

Options:

615475243801, 1
61547524802, 2
E1547524802. 2
61547524804, 4

Question Number : 76 Question Id : 6154756360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfian & & =4 e Ry G ST (3 T8 T8 %) A & st Tiad aRens F s %
%&aﬁﬂ‘gﬁﬁff%?

1)  Roues 7w Twd e gwm
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Options:
1547524501, 1

E1547524802. 2
61547524803, 3
61547524804, 4

Question Number : 77 Question Id : 6154756361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
By which year the Agenda for Sustainable Development aims to empower women in the

economy and closing gender gap?

(1) 2026
(2) 2028
(3) 2030
(4) 2032
Options:

E1547524805. 1
61547524806, 2



E1547524807. 3
61547524808, 4

Question Number : 77 Question Id : 6154756361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Taq fawm = FEEE (FEAad Sa9TEe THS) § 5 99 9% gfEane ® Adsgas § 59 e A
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(1) 2026
(2) 2028
(3) 2030
(4) 2032
Options:

61547524505, 1
61547524808, 2
E1547524807. 3
E1547524808. 4

Question Number : 78 Question Id : 6154756362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements 1s not correct about women's economic empowerment?

(1) Access to and control over productive resources

(2) Abolishing dowry system

(3) Access to decent work
(4) Participation in economic decision making
Options:

E1547524809. 1
61547524810, 2
61547524811, 3
61547524812 4

Question Number : 78 Question Id : 6154756362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E154752480%9. 1
61547524810, 2
61547524811, 3
E1547524581%2. 4

Question Number : 79 Question Id : 6154756363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the Chinese philosopher Confucious which of the following relates to optimum
population?

(1) Family headship (2) Total population of a country
(3) Agricultural land (4) Lateracy rate of the population
Options:

615475245813 1
61547524814, 2
615475245815 3
615475245816, 4

Question Number : 79 Question Id : 6154756363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  9fER =1 geF Faedl (2) T&ET g Fi T SEE
(3) =Ny" (4) wEEET & HEET
Options:

615475245813 1
615475245814, 2
61547524815 3
E1547524816. 4

Question Number : 80 Question Id : 6154756364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s total geographical area of India?

(1) 309 million hectares (2) 319 million hectares
(3) 329 million hectares (4) 349 million hectares
Options:

615475245817, 1
E15475248158. 2
E15475248145. 3
B1547524820. 4

Question Number : 80 Question Id : 6154756364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200 fofoea 29 (2) 319 fafeaa g7
(3) 329 fofema 29 (4) 349 fofe=a 29
Options:

615475245817, 1
61547524818, 2
E1547524818. 3
B1547524820. 4

Question Number : 81 Question Id : 6154756365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s not considered by the Mercantilists as essential to 1ncrease
birth rates?

(1) Encouraging marrage
(2) Encouraging fertility
(3) Encouraging immigration and preventing emigration
(4) Encouraging polvgamy
Options:

BE1547524821. 1
B1547524822. 2
B1547524823. 3
61547524824, 4

Question Number : 81 Question Id : 6154756365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475245821, 1
61547524822 2
E1547524822 2
61547524824, 4

Question Number : 82 Question Id : 6154756366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is correctly related to the statement made by Simon Kuznets
that population growth tended to

(1) Increase per capita income (2) Decrease per capita income
(3) Increase environmental pollution (4) Increase urbanisation
Options:

61547524825 1
61547524826, 2
E1547524827. 3
615475248258, 4

Question Number : 82 Question Id : 6154756366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T F9-eq g e MU F:o9 § Tafafigs § 8 #1598t @1 @ vafq 2, foed 5a ™ 2 % sAeen o
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(3)  vElU § Y5y FEdT (4) et ® gfg gt 2
Options:

615475245825 1
E1547524826. 2
B1547524827. 3
61547524828, 4

Question Number : 83 Question Id : 6154756367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the annual permissible concentration of PM1o in the air?

1) 20 ug/m’ 2 30 ug/m’
3) 50 ug/m’ 1) 60 pugim
Options:

E1547524829. 1
E1547524830. 2
61547524821, 3
61547524832, 4

Question Number : 83 Question Id : 6154756367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547524529, 1
61547524820 2
E1547524821. 2
61547524822, 4

Question Number : 84 Question Id : 6154756368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following 1s correctly related to the statement. ‘meeting the needs of

present generation without compromising the needs of future generations™?

(1) Economic Development (2) Social Development
(3) Human Development (4) Sustainable Development
Options:

61547524833, 1
61547524824, 2
61547524835 3
E1547524836. 4

Question Number : 84 Question Id : 6154756368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  anfds fa=m (2) =T fawm
(3) T+ fT=wmE (4) = fawE
Options:

E1547524823. 1
E1547524824. 2
B1547524835. 3
61547524836, 4

Question Number : 85 Question Id : 6154756369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following best describes the cause of distress migration?

(1) Ethnic atrocities (2) Better Job
(3) Higher education (4) Marriage
Options:

615475245837, 1
61547524838, 2
E1547524839. 3



E1547524840. 4

Question Number : 85 Question Id : 6154756369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  ToEE AR (2) FEH
(3) = foam (4) faam
Options:

61547524837, 1
E15475248358. 2
E1547524839. 3
61547524840, 4

Question Number : 86 Question Id : 6154756370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following has popularised the concept of social remittances?

(1) Alejandro Portess (2) David Bloom
(3) Pegoy Levitt (4) Oded Stark
Options:

61547524841, 1
E1547524842. 2
E1547524843. 3
B1547524844. 4

Question Number : 86 Question Id : 6154756370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547524841, 1
61547524842 2
61547524843 =
61547524844 4

Question Number : 87 Question Id : 6154756371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following term 1s used to refer two or more towns contiguous to each other

along with their outgrowths that may include villages?

(1) Urban agglomeration
(2) Periurban areas
(3) Megalopolitan areas

(4) Conurbation
Options:

E1547524845. 1
61547524546, 2
61547524547 3
1547524545 4

Question Number : 87 Question Id : 6154756371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) el uE

(2)  Wi3RTT (Periurban) &

(3)  TEmifeed &7 (Megalopolitan areas)
(4)  ITTEE TET (Conurbation)

Options:

61547524845, 1
61547524846, 2
61547524847 o
61547524848 4

Question Number : 88 Question Id : 6154756372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 13 called a migration stream during a given migration interval?

(1) Common area of origin and common area of destination
(2) Common area of origin and different areas of destination
(3) Different areas of origin and common area of destination
(4) Different areas of origin and different areas of destination
Options:

615475245849 1
E1547524850. 2



E1547524851. 3
61547524852, 4

Question Number : 88 Question Id : 6154756372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T fou Tu w98 3o & SRH Y9 T4 (9TSiYE W) 7

(1) T I & G968 §F 70 T=ae4 =H & g9 &7
(2) HO TIF F G9HE &F 7U1 Tag & H 8 &7
(3) o ©IH &1 i &7 997 Tae = w1 g9y &

4) O TH w8 §F 99 T =E & 4 &7

Options:

615475245849, 1
61547524850 2
61547524851, =
61547524852 4

Question Number : 89 Question Id : 6154756373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 the stage called between origin and destination in Lee’s model of migration?

(1) Intermediate obstacles

(2) Intermittent obstacles

(3) Intervening cbstacles
(4) Interminable obstacles
Options:

61547524853, 1
61547524854, 2
61547524855, 3
E1547524856. 4

Question Number : 89 Question Id : 6154756373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TaET (ATEIEE) & S AT § go T 997 T0ed ¥ & o9 &1 =00 997 HEemT @ ¢

(1)  T=adi =9y (sadifeue sreadaed)
(2)  Gfnm =EgH (e stieadaed)
(3) 370 =HFuH (el aieided)

@) I Y (Feiae dieddded )
Options:
615475245853 1
61547524854 2
61547524855, 3
61547524856, 4

Question Number : 90 Question Id : 6154756374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 13 the percentage of women in total international migration?

(1) 30-—35 (2) 35-40
(3) 40-45 (4) 45-50
Options:

61547524857, 1
61547524858, 2
E1547524859. 3
E1547524860. 4

Question Number : 90 Question Id : 6154756374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AU AT TaE | Afgenati &1 gfowe e 27

(1) 20— 3b (2) 35-40
(3) 40 — 45 (4) 45-50
Options:

61547524857, 1
61547524858, 2
61547524859, 3
E1547524860. 4

Question Number : 91 Question Id : 6154756375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to world urbanisation prospects 2018, what percentage of world population lives in
urban areas?

(1) 40 — 45 (2) 50-5b5
(3) 60 — 65 4y T0-T5
Options:

615475245861, 1
61547524862, 2
61547524862, 3
E1547524864. 4

Question Number : 91 Question Id : 6154756375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fava sl goamem, 2018 & ogeR fave sHeee &1 fea sfawa wed &= 8 war 27

(1) 40 — 45 (2) S0-55
(3) 60— 65 (4) 70— 175
Options:

B1547524861. 1
61547524862, 2
61547524863, 3
615475245864, 4

Question Number : 92 Question Id : 6154756376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per 2011 census. which four states account for 50 percent of India’s interstate

migration?

(1) Uttar Pradesh. Kerala, Tamil Nadu. Rajasthan
(2) Uttar Pradesh, Bihar, Madhyva Pradesh, Rajasthan
(3) Odisha. Bihar, Tamilnadu. Kerala

(4) Madhya Pradesh, Kerala, Karnataka, Bihar
Options:

1547524865 1

E1547524866. 2

1547524867, 2

1547524868, 4

Question Number : 92 Question Id : 6154756376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a8 2011 #H FIUET % IR, Fefdfgs § ¥ A SR 059 § gEed 9 % 3T Tae #
50 o 27

(1) I o9, e, ae 15, TSI
(2) I gom, famm, weg wem, veAH
(3)  afifesm, fagw, aftemrg, @@

4) T ¥e, W, FAleh, 7R
Options:
615475245365 1
61547524866 2
61547524867, 3
61547524868, 4

Question Number : 93 Question Id : 6154756377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the life table, what 1s the expected number of years lived between ages 15 and 65 by a

person who survives to age 15?7

T _T L _L 5
(1 sodas = [—ij = J @) sdys = —153 -
15 15
Ts —Lgs i
(3) soLys =———= @) solys = =
Ls Ls
Options:

615475245869, 1
61547524870, 2
E1547524871. 3
B1547524872. 4

Question Number : 93 Question Id : 6154756377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sfma @iferdt #, 15 99 FT FY q% Sifbd @ 9 ke # 15 98 A 3 ¥ 65 98 Kl IG F A
Ffefigs & @ T a9 9= g1 w1 &1 99mE @i 27

15— g —&
(1) oy [Iég .??.] 2 B AR et = B
15

T5—Lgs
(3) solys =——2

Illllj g]Ilj

Options:



E154752486%9. 1
B1547524870. 2
61547524871, 3
61547524872, 4

Question Number : 94 Question Id : 6154756378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In an ideal circumstance where incidence (I) and duration (D)) remain constant over time and
the disease 1s said to be stable, then prevalence (P) 1s equal to :

(1) P=FlD
(2) P=IxD
(3) P=IxD+1

1
(4) P=—+D
D

Options:

61547524873, 1
61547524874 2
61547524875 2
61547524876, 4

Question Number : 94 Question Id : 6154756378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U 37ey et § SRl gen () 9 9uaEty (D) 999 & 9@y e =T @ ath O = foR = .1 a9
2, o F=fefas & & =gasar (P) fas 99m 27

(1) B=IlD
(2) H=Jix )
(3) P=d®x 41

I
W) PE—4D
D

Options:

615475245731
61547524874, 2
61547524875 5
61547524876, 4

Question Number : 95 Question Id : 6154756379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



When age specific death rate per person in the age group of 10-15 1s 0.0105, the correct
answer from below may be chosen by calculating probability of death in the age group of
10-15. 1.e. ;g,;, using conventional method of life table

(1) 0.03
(2) 0.04
(3) 0.05
(4) 0.06
Options:

BE1547524877. 1
E1547524878. 2
B1547524879. 3
61547524880, 4

Question Number : 95 Question Id : 6154756379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7z 10-15 31 991 § Uid =40 AE-Ta99 5 30 0.0105 =1, 1 TWoaieh Sffaq aiferhl = 1 39Er w1

10-15 3Tg-F1 IH . q,, & Geg =l TEFaT 6 A F1 7g FEG0E § # T w6 3 F 95T

FTE Y
(1) 0.03
(2) 0.04
(3) 0.05
(4) 0.06

Options:

615475245877, 1
E1547524878. 2
E1547524879. 3
61547524880, 4

Question Number : 96 Question Id : 6154756380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given an abridged life table with its usual columns of [, :q,, sL,. T, and e_. which one of

the following option i1s correct for computation of expectation of life for those who survive at
age 607

[
(1) f—x where x 1s the age when all members of Radix die
60
¥
(2) e
Iﬁlﬂl

(3) sLey +5 Lgs +euneat L, (x 18 last age of survival)

[y =

Options:

61547524881, 1
61547524882, 2
61547524883 o
61547524884 4

Question Number : 96 Question Id : 6154756380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et g wfem e arfae & am w1, oq., sL., T, 921 e, 3| Fafcfan & 9 =t9-w1 9w
60 9% ! ITASHTET aTet SAfh HT Sad JeaTE Hi 701 39 &l 2 7

1 ;—xﬁﬁixaﬁ@%aﬁﬁw%wﬁmmmé
a0

I

@ ==
I &0

(3)  sLgy+s Lgs+..oot L (x TS a1 3f0H 37 2)

@ =
J!11545}
Options:
61547524881, 1
61547524882, 2
61547524882, o
61547524854, 4

Question Number : 97 Question Id : 6154756381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In an abridged life table, the total number of years lived by members of the cohort after
reaching age x. T, 1s computed as

(1} '?.'1' 3 I-|I+J’I +H LI (2} '?.'T = I-.'T—H +?:I' LI
& L=1 41, ) L=l b
Options:

615475245885, 1
61547524886, 2
E1547524887. 3
E1547524888. 4

Question Number : 97 Question Id : 6154756381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et sl <fem Tifeem 3, x 39 T+ F Tv=1 98 (Fi81) F Tt gil Sid 9t 9§ Sl ol 9
T, <1 0T 5 g T ST 2

(1) '?.'1' = TI+J’I +.?‘E LI (2} ‘?;: = '?.-T—?‘E +H LI
@ L-Z%L @ L5
Options:

E1547524885. 1
61547524886, 2
61547524887, 3
61547524888, 4

Question Number : 98 Question Id : 6154756382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following sets of data are required to compute a life table?

(1) Radix and age specific death rate
(2) Age specific death rate
(3) Apge specific deaths

(4)  Radix
Options:

61547524859 1
61547524830, 2
615475245831 3
615475248392 4

Question Number : 98 Question Id : 6154756382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Sfte arfert i o 2g Fefoifaa d @ few swe-vg= F1 sEvasar g 27

(1)  ifzTw aw 3@ falsm gg =
(2) 37 FERE g =

(3) 3ufakmdgy

4) ife=m

Options:
61547524559 1

E1547524830. 2
E15475248391. 3
61547524852, 4

Question Number : 99 Question Id : 6154756383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Incidence and prevalence rate of cancer for the vear 2019 have been calculated for a

terrtory. Which one of the following statement 1s correct?

(1) Numerator of incidence rate = Numerator of prevalence rate
(2) Numerator of incidence rate = Numerator of prevalence rate
(3) Numerator of incidence rate < Numerator of prevalence rate
(4) Nothing can be said the relationship

Options:

615475245893 1
61547524834, 2
E15475248385. 3
E15475248396. 4

Question Number : 99 Question Id : 6154756383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ferelt & o et T geTsTl U S=eH e i TuET T s 2| Hefeige 8 ¥ s e wdi 27

(1) =& 1 T 3T = T=eid gt 51 AT
(2)  HEAT A > YFEH o FT AW

(3)  HedT €U F 379 < e ol & 3990

4) oF & 99 & 999 & 91 § $© gl Hgl 5 Ghd]

Options:

61547524893, 1
61547524894 2
61547524895 2
61547524896, 4

Question Number : 100 Question Id : 6154756384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If GRR in a population is 1.87, and 100 mothers follow the current schedule of fertility. then
100 mothers will be replaced by how many daughters ?

(1) 1.87
(2) 18.7
(3) 187
(4) < 187
Options:

E1547524897. 1
E1547524898. 2
615475248595, 3
61547524300, 4

Question Number : 100 Question Id : 6154756384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fordt Sge § vee g9 & (S 3R 3R) 1.87 2 3R 100 A, G0HH TS SHI-HRO0 F1 A

FdT 8, a1 100 Tarsdl &1 fead! gt gro sfoeenfia o s ?

(1) 1.87
(2) 18.7
(3) 187
(4) = 137

Options:



B1547524897. 1
615475248398, 2
61547524855, 3
61547524300, 4

Question Number : 101 Question Id : 6154756385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Hajnal's method to calculate singulate mean age at marriage (SMAM), which one of the

following assumption i1s not true?

(1) No change in marriage pattern
(2) No mortality differential by marital status
(3) No change in age structure

(4) No migration differential by marital status
Options:

61547524901, 1

E1547524902. 2

615475244903 2

61547524904 4

Question Number : 101 Question Id : 6154756385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gorTe & fat § faaw & 99 vwer afted 31 (v@ wm w un) 7 01 $9 % g9y § affan § 8@ :4
a1 i w7 27

(1)  faame 9o o =i gfEds 48

@) s ot gr w8 ooy fade =

(3)  37g W1 § HIg TR Jar

@)  daites Eafs § #8 yaen fade &

Options:

61547524901, 1

61547524302, 2

61547524303, 3
E1547524804. 4

Question Number : 102 Question Id : 6154756386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The ratio of marital fertility r (a) to natural fertility n (a) 1s expressed as :

- r(a)
m= Lag{MH(aJ/r(a)

If m = 0, then which one of the following 1s the correct interpretation of m?

(1) The shape of the fertility schedule 13 i1dentical to that of standard natural fertihity
schedule

(2) It indicates that fertility schedule deviates from natural fertility
(3) Fertility declines even more slowly with age than standard schedule

(4) The greater deviation of the fertility schedule from the standard natural fertihity
schedule

Options:

61547524905, 1
61547524906, 2
615475249307, 5
61547524908, 4

Question Number : 102 Question Id : 6154756386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
daTfeh IHaT 7 (@) T ITHiaH TFaT n (@) T 3TIE 59 THR h a1 <741 2

s r(a)
m= Log {Mn(u} l/r(a)

g m = 07, 9 Fefcias 8 % F8 m #7191 Few 27

(1)  IsH-d1 G9F-8RUT F1 ATHR, TS TTHih Te7d] Gaa-FR01 & THR & G997 3
(2) T "hd &aT 2 foh Io-Ha1 SHE-wnofl & gihfs geaar | faeer g @

(3)  UsHAAT § Wi GRI-GRU 1 37987 IW & 91 G SR-R 5 21 2

(4)  ISHIAT GEE-GRU 1 AHE T e gl ang-wnel @ st fase g 2

Options:

61547524905, 1
61547524906, 2
61547524907, 2
61547524908, 4

Question Number : 103 Question Id : 6154756387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following 1= major disadvantages of Crude Birth Rate (CBR)?

(1) It 1s affected by age structure only
(2) It 1s affected by sex composition only

(3) It 13 affected by age-sex composition
(4) It 13 affected by age-sex structure and marital composition
Options:

51547524909, 1
61547524910 2
61547524911, 3
61547524912 4

Question Number : 103 Question Id : 6154756387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g § @ =i syeitaT 50 & (& o 9R) F gy i 27

(1) @ a1 3§ G0 § guifad gian 2

(2) I %had o gued § yyifaq 26T 2

(3) 97 39 3fi fowr @wen & wunfa 2rar 2

4) =z 3y-fom 3tk faar s & ywifaq 2T 2

Options:
£1547524909. 1

E1547524910. 2
E1547524911. 3
B154752491%. 4

Question Number : 104 Question Id : 6154756388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sex structure of any population 1s determined by the past trends of :

(a) Sex ratio at birth
(b) Sex selective migration
(c) Sex differential in mortality

(d) All of the above

Select most appropriate option :

(1) Only (a} (2) Omnly (c)
(3) {a) and (b) Only (4) All (a). (b) and (c)
Options:

615475249121
61547524914, 2
E1547524915 3
E1547524916. 4



Question Number : 104 Question Id : 6154756388 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

FetetEe 5 H el Yariers Tgim gl el ST i T ST S A B 7

(a) =9 % TFF @ AW

(b)y  Tom ==Ha s

(¢)  Tg T for faue

(d) T A

Tafta® Jugad fahed =5

(1) == (a) (2)
(3) = (a) N (b) (4)
Options:

61547524912 1
61547524914, 2
E1547524915. 3
B1547524916. 4

F9 (c)

(a). (b). (c) T

Yes

Question Number : 105 Question Id : 6154756389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following Ministry 1s responsible for population registration in India?

(1) Minmistry of Statistics and Programme Implementation
(2) Minmistry of Health and Family Welfare

(3) Ministry of Women and Child Development

(4) Minmistry of Home Affairs

Options:

B1547524917. 1
B1547524918. 2
61547524915 3
E1547524920. 4

Question Number : 105 Question Id : 6154756389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Fraferfian © @ F—a1 TR A § S T (RRE) # e s 27

T SN r r .
gifeadh] 3 FE%HY FE-957 TI0™

(1) (2)

(3) (4)

=TT 3T TRER Fom OIE

T2 HATeE



Options:

61547524917, 1
61547524918 2
£1547524919 2
61547524920, 4

Question Number : 106 Question Id : 6154756390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following was "‘World Women Conference™

(1) Bucharest Conference (2) Cawro Conference
(3) Alma Ata Conference (4 Mexico Conference
Options:

B1547524921. 1
B1547524922 2
B1547524923. 3
E1547524924. 4

Question Number : 106 Question Id : 6154756390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tafafaa 0 & #4 fava aken a9 w27

(1)  FERE FHeH (2) wifEy geer
(3) 31 3% TN 4) TfFa=st goiew
Options:

B1547524921. 1
B1547524922 2
E1547524923. 3
61547524924, 4

Question Number : 107 Question Id : 6154756391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The annual growth rate of a population is 2.7 percent. How many vears it will take to double
the population?

(1) 25 years (2) 26 years
(3) 27 yvears (4) 28 years
Options:

B1547524925. 1
B1547524926. 2
B1547524927. 3
E1547524925. 4



Question Number : 107 Question Id : 6154756391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol e & a1 faeR & 2.7 9i0vW 2| 59 e % g1 aH 1 e 3y o ?

1 25 ) 2694
3 2799 @) 23
Options:

E1547524925. 1
61547524926, 2
E1547524927. 3
B1547524928. 4

Question Number : 108 Question Id : 6154756392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Achievement of Replacement level fertility will lead to :

(a) TER =21

(b) NRER =1.0

(c) Population Stabilisation

(d) Zero rate of population growth

Choose the one which 13 most appropriate in the long run of about 50 vears in India :

R VAN ()

@)  (a).(®). (@

(3)  (a).(b). (d)

@  (@.®.(©. d

Options:

61547524929, 1
61547524920 2
E1547524921. 2
61547524932 4

Question Number : 108 Question Id : 6154756392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST % TiaegaE i iy € Fefefeg gm?

(a) oI TS & (F U AR) = 2.1

(b) I geAEaT & (W9 3R W) = 1.0
(c)  <HgEET e

d) wHEE I A I W

G | TR 50 9% 6 sty § Fefoiay 7 9 Fa7 g9ibs 399 3 7

L (@) {0

@)  (@). (). (@

B (a). (). @

@ (@).®).(@.d

Options:

61547524929, 1
E1547524920. 2
61547524921, 5
61547524932 4

Question Number : 109 Question Id : 6154756393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following indicators are used to construct ‘Human Development Index’
(HDI)?

(a) Life expectancy at barth

(b) Adult literacy rate

(c) GDP per capita

(d) Labour force participation

Choose the correct option :

(1)  (a). (b) and (o)
(2)  (a). (b) and (d)
(3)  (a). (c) and (d)
@)  (b). (c) and (d)

Options:
615475244953 1



E1547524934. 2
61547524935 3
61547524936, 4

Question Number : 109 Question Id : 6154756393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e fawm g (va S am) & fmin | fefafe § @ 6w g = swm e 2 e
(a)  TF & G99 SaT ToaTE
(b)  TIEH FIFAT
)  ufi =g @her gig 30915 (S €1 1)

(d)  gHs 9 FT YEigH

TEl FHe F =9 Hifa

A1) (a). (b) R (@
2  (a). (b) 3R (d)

(3)  (a). (c) 3 (d)

4 (). (o) I ()
Options:
E1E47EZ4922 1
1547524934 2
L1547524935 =
L15475244938 4

Question Number : 110 Question Id : 6154756394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which among the following are related to Demographic Transition?

(a) Fertility decline
(b) Mortalhity declhine
(c) Urbanisation

(d) Change in sex ratio

Choose the correct option :

(1) only (a). (b) and (c) are correct
(2) only (a).(b) and (d) are correct
(3) only (b). (¢) and (d) are correct

(4) only (a). (¢) and (d) are correct
Options:

615475249271

E1547524938. 2

£15475244939 2

61547524940 4

Question Number : 110 Question Id : 6154756394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ffeifiga & @ =i9 SRS gshau § gaiea 27
(a)  F<AaT ° B

(b) U e H B

(c) TR

d) o sgEw ° 9fEds

gt fameg =1 =39 Fifsw .

(1) =9 (a). (b) 3R (c) F 2
(2)  Fad (a). (b) 3R (d) ¥l 2
(3)  @ad (b). (c) ¥R (d) &l &

4)  F9 (a), (c) 3R (d) ¥ 2
Options:
15475249237, 1
L1547524938. 2
L154752449349 2
15475244940 4
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According to Durkheim. which among the following are the components of organmic solidarity

of human society?

(a) People are interdependent on each other
(b) People practise division of labour

(c) People practise organic farming

(d) People take care of ecosystem

Choose the correct option :

(1)  Only (a) and (b)
(2)  Only (b) and (c)
(3) Only (¢) and (a)

(4) Only (d) and (a)

Options:

61547524941, 1
61547524942 2
E1547524943 =2
61547524944, 4

Question Number : 111 Question Id : 6154756395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) @ v Fdwfe 2 2

(b) < FE-TaaE w7 wE w1 2 |
() < <9 Gt +d 2|
d) = wifefad-a9 %1 e= w@d 2|

a2t fameg =1 =77 Shifm

1) Fad (a) 3R (b)
(2)  Fa (b) 3 (c)
(3)  Fad (c) W (a)

4)  FEe (d) IR (a)
Options:
61547524941 1
61547524942 2
61547524943 3
61547524944 4
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Which among the following 1z not a characteristic of primary segment of ‘Dual Labour

Market’ theory of migration?

(a) Skilled worker
(b) Apgricultural work
(c) Low paid job

(d) Stable job

Choose the correct option :

(I)  (a)and(d)
(2)  (b) and (c)
(3)  (a)and (b)
4 (b)and (d)

Options:

61547524945, 1
61547524946 2
61547524947 o
615475249345 4

Question Number : 112 Question 1d : 6154756396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) T AHS

b)  HM A

(c) Foqrash wE

@) = w

gt fameg =1 =59 Fifse

1) (2) 3R (@)

(2) () I (o)

(3)  (a) 3R ()

@) (b) ¥ (@)
Options:

61547524945 1
61547524948, 2
E1547524947. 3
E15475249458. 4
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Which combination of the following indicators of mortality should be used to compare
mortality in India and Bangladesh comprehensively (in all important dimensions of

mortality)?

(a) Crude Death Rate (CDR)
(b) Infant Mortality Rate (IMR)
(c) Under-5 mortality

(d) Expectation of life at birth

Choose the most appropriate option :

(1) (d) only

@) (@). (b))
3) (k). (e). (d)
4)  (b). (d) only

Options:

615475245949 1
61547524950, 2
61547524951, 5
61547524952 4

Question Number : 113 Question Id ;: 6154756397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



WA 3R ST § Og 3 F) AE GoFl & og FEfafed § 8§ R 0 ® gl & aiied &6
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(1)  Fad (d)

2  (a). ®b). )
3 ®). ©. (d)
@)  Fad (b). (d)

Options:

615475245949 1
61547524950, 2
61547524951, 5
61547524952 4
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Which of the following combination of data sets shown below 1z needed to compute Net

Reproduction Rate?

(a) Apge distribution of female population
(b) Number of births by age of women
(c) Sex ratio at birth

(d) Number of total female births

Choose the correct option :

1) (@. 0. @
2)  (@. (b))
(3) (2. (). (d)

(4) Net Reproduction Rate cannot be computed based on given information

Options:

61547524953, 1
61547524954 2
61547524955 2
61547524956 4

Question Number : 114 Question 1d : 6154756398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fae goa @ (U7 AR o) & wvET i B Fefefa ® 9 o arwe-ugwet & sl w1 s

F1 afTayaHaT gidl 27

(a)  Tfeen e H1 35 foam

(b)  TieEnaTt # 3W % IER TG AT T I AT
() =0 % v9g for argm

(d) 9 o ATl wefEat d T g

&l fames &1 =99 Fifow

(1)  (@. ().
2)  (@). (). (D
(3)  (a). (). (d)
(4) & T8 FEERT & 3mER W Hae g 1 auEn 98 S gwd

Options:

£1547524953. 1
61547524954, 2
61547524955 5
61547524956, 4

Question Number : 115 Question Id : 6154756399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By which two of the following techniques, age data may be analysed?

(a) Index of Relative Difference
(b) Index of Dissimilarty
(c) Gim Concentration Ratio

(d) Lorenz curve

Choose the correct option :

(1)  (a)and (c)
(2)  (a) and (d)
(3)  (a)and (b)
4)  (b) and (d)

Options:

61547524957, 1
E1547524958 2
61547524959, 5
61547524960 4

Question Number : 115 Question Id : 6154756399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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(a)  ETHY T FIHH

(b) — ITHTETA GIHE

(c) Tl =1 Febegm g

(d)  Ra T

et faweg =1 =97 fifew .

1) (2) 3 (o)

(2)  (a) 3R (@)

(3)  (a) 3R (D)
4)  (b) I (@)
Options:

61547524957, 1
61547524958, 2
61547524959, 3
E1547524960. 4
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Which two of the following methods are used for national population projection?

(a) Component method
(b) Eatio method
(c) Mathematical method

(d) Urban Rural Growth Distribution (URGD) method

Choose the correct option :

(1) (a)and (b)
(2)  (b) and (c)
(3)  (a)and (c)

(4)  (b) and (d)
Options:
615475244961 1
61547524962, 2
61547524963 o
61547524964, 4

Question Number : 116 Question 1d : 6154756400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  EHH 31974 fay

(b) 3T fafg

(¢  wiaE fafa
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gl fameg %1 929 Fifeu
1) (a) 3 (b)
(2) ()3 (o)

(3)  (a) 3 ()

4 ()3 (@)

Options:

61547524961,
61547524962,
61547524963,
61547524964,

[ N I
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Which two of the following methods are used for small area population projection?

(a) Mathematical method
(b) Ratio method

(c) Regression method

(d) Component method

Choose the correct option :

(I)  (a) and (b)
(2)  (b) and ()
(3)  (b) and (d)

(4)  (c)and (d)

Options:

61547524965,
£1547524966,
61547524967,
61547524968,

o LIRS
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4

(a)  fordig faf

(b)  3gE &g

()  FarEy i

(d)  wgew Tt
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1) (a) 3R ()
2)  (b) 3 (c)
(3) ()3 (@)

@)  (c) 3R (@)

Options:

61547524965, 1
E1547524966. 2
61547524967, 5
61547524968, 4
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In order to project population of India for the year 2031. which of the following combination

of components will be used?

(a) Population of India as per the 2011 census
(b) Fertility
(c) Mortality

(d) Migration in different decades

Choose the correct option :

(1) (a) and (c) only
(2)  (a) and (b) only
(3)  (a). (b) and (c) only

4)  (a). (b). (c) and (d)
Options:
615475249649,
61547524970,
61547524971,
61547524972,

[ N
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T 2031 & fom wRa &1 SFEE vd w5 gg Fefofas 7 9 e dues 9ftiem & swEm e

ST 7

(@) 2011 &1 SHIUAT & FTHR YRA hl STHEEAT
(b) TS &EAT

) HJEX

(d)  fafim el © ga9eq

w21 faweg +1 =97 fifae

1)  Fa9 (a) 3R (0)
(2)  Fad (a) 3 (b)
(3)  Fad (a). (b) I (c)

@) (a). (b). (c) I (@)
Options:
E1E47EZ49E249 1
1547524970, 2
L1547524971. =2
L1547524972 4
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Match the standard deviation given 1n List-I with % of observations lying either side of mean
under ‘Normal Distmbution’ given in List-I1

List-I Last-II

(a) One standard deviation of either side (1) 99.99
of mean

(b} Two standard deviation of either side (1) 99.74
of mean

(c) Three standard dewviation of either (1) 95.4b5
side of mean

(d) Four standard deviation of either side (1v) 68.27
of mean

Choose the correct option :

1) (a)-ai), (b)-(1v). (¢)-(). (d)-(1)
(2)  (a)-Gi1). (b)-(Gv). (c)-G1). (d)-(1)
(@)  (@-av). (b)-au). (¢)-(). (d)-)
@) (a)-av). (b)-(1), (¢)-(i), (d)-@)

Options:

61547524973, 1
61547524974 2
61547524975 2
E1547524976. 4

Question Number : 119 Question Id : 6154756403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



g1 7 fou v ame fomem &1 g=-11 9 fu T e faowor & ofaifa o % g1 o 2w sTaete
& gifoe Fifse

g1 11

(a) W F gHI TH Fl Tk A I=em @)  99.99

(b) W F THI OF & &l S faoeH G) 99.74

(c) H=F & gHI % & o9 TFs 9= (i) 95.45

(d) T F gHI aUF & 9N gHS HoeH (v) 63.27
el Toshes &1 == St

1 (@-G). (b)-(v). (c)-G). (d)-)
2)  (2)-Gi1). (b)-(v). (c)-Gi). (d)-()
(3)  (@)-Gv). (b)-Gid). ()-G). (d)-G1)
@  (2-Gv). (b)-(n). (c)-G1). (d)-@)

Options:
E154752497 3.

E1547524974,
B1547524975,
B1547524976,

[ N
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Match various Committees given in List-I with their recommendations given in List-II.

(a)

(b)
(c)

(d)

List-I

Bhore Commaittee

Chadha Commaittee
Mudaliar Commaittee

Kartar Singh Commaittee

Choose the correct option :

(1)
(2)
(3)
@

Options:

(a)-(111), (b)-(v). (c)-(). (d)-(1)
(a)-@v). (b)-(111). (c)-@). (d)-(1)
(a)-(iv), (b)-(id). (c)-(i). (d)-@)
(a)-(11), (b)-(v). (c)-(G1). (d)-@)

61547524977, 1
E1547524975. 2
E15475249739. 3
B1547524980. 4

@

(11)
(111)

@av)

List-II

Integration of curative and preventive

services
Multipurpose health workers scheme

Extensive education for all National

Health Programmes

Jetting up three tier system of health

care

Question Number : 120 Question Id : 6154756404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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(a) uR afmfd

b) =5Er Efif

(¢} Hg T HUT

(d) =R T4z @l
TEl fomre =7 =57 Fif
(1) (a)-(i11). (b)-(iv). (c)-(@). (d)-(i)
(2) (a)-(v). (b)-(iii). (c)-@). (d)-(i1)
(3) (a)-(v). (b)-(iii). (c)-({1). (d)-(1)
(4) (a)-(11). (b)-(iv). (c)-(i1). (d)-(1)
Options:

61547524977, 1
E1547524975. 2
E15475249739. 3
B1547524980. 4

g1
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Match the factor that affects Routine Health Information System (RHIS) performance given

in List-I with its deseriptions given in Last-II.

(a)
(b)
(c)
(d)

List-I
Technical factor
Behavioural factor
Organisational factor

Process related factor

Choose the correct option :

1)
(2)
(3)
4)

Options:

(a)-Gv). (b)-(ii). (c)-(D). (d)-Gid)
(a)-G1). (b)-(v). (c)-(1). (d)-(i1)
(a)-@G1). (b)-(v). (¢)-(111), (d)-(G)
(a)-(v), (b)-(1), (c)-(i11). (d)-(2)

E1547524951. 1
B1547524982. 2
61547524983, 3
61547524954, 4

@
@i1)
(ii1)
@v)

List-TI
Planning, supervision and training
Skills to check data quality
Data processing and transmission

Complexity of reporting forms and

practices

Question Number : 121 Question Id : 6154756405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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g1 g 11
(a) THAH FF () 3T, e i g
(b) THIERIHF: Hh (i) 3TTHST UG FI SH T FH RIS
(c) WISTCH HRS (iii) 3TTHST THHVT G o
(d) -l gadi FrH (iv) G SHaTe BT HI ol U qiiR
gl fames =1 =59 Fifsw

1) (@-Gv). (b)-(). (e)-@). (d)-(11)
2)  (a)-G1). (B)-(v). (c)-Q). (d)-(i1)
(3)  (a)-@). (b)-av). (¢)-(11). (d)-(1)
@ (a)-(w). (b)-(1). (c)-(i1). (d)-()

Options:

£1547524981. 1
61547524982, 2
61547524982 o
61547524954, 4
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Match the important events in the Family Welfare Programme in India given in List-I with

their year given in List-I1.

Last-I List-II

(a) Change in name from Family (1) 2005
Planning to Family Welfare

Programme

(b) Implementation of National Rural (n) 2000
Health Mission

(c) Target Free Approach in Health and (m1) 1977
Family Welfare Programme

(d) Introduction of National Population (iv) 1996
Policy

Choose the correct option :

1) (a)-av). (b)-(D). (c)-Gi1). (d)-()
2)  (2)-Gi1). (b)-(). (e)-(i). (d)-Gv)
3)  (a)-av). (b)-GD). (c)-Q). (d)-(iii)
@ (a)-1). (b)-@). (c)-Gv). (d)-(12)

Options:

61547524985, 1
E1547524986. 2
61547524987, 5
61547524988, 4
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I B G s YR § 9RER FHeam wEHE S e gersdi w gl § f5u U 39 w9y €@
ghfem s

g1 I
(a) YRaR FaeE ®E®ET &1 99 J5e9d 58 (1) 2005
TRIR Feam wEHT AW e s

(b) TTE T W {gEE w5 FEEeE Gi) 2000
(c) wameg 3N IRER Fegm FEHE § @89 g& (i) 1977
3T
(d) T s Hifd g A (iv) 1996
El fahey =1 =7 Fifsu

1) (a)-@v). (b)-(1). (c)-Gid). (d)-(2)
2 (a)-@), (b)-@). (c)-(1). (d)-Gv)
3)  (a)-@v). (b)-(D). (c)-Q). (d)-(11)
@)  (a)-Gn). (b)-Q). (c)-Gv). (d)-(11)

Options:

61547524985 1

61547524986, 2

E1547524957. 3
E1547524985. 4
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Match the nutritional deficiency signs given 1in List-I with their explanations given in Last-II.

List-T List-II
(a) Night blindness (1) Energy deficiency among infants
(b) Rickets (1) Deficiency of Vitamin A
(c) Marasmus (111) Deficiency of Vitamin D
(d) Anemia (1v) Deficiency of Iron

Choose the correct option :

1 @-@). (b)-Q). (c)-Gi1). (d)-Gv)
2 (a)-@). (b)-Qu). (c)-@). (d)-Gv)
3 (@-@. (b)-Gi). (c)-Gi1). (d)-Gv)
@  (@-G). (b)-(v). (c)-G1). (d)-@)

Options:

615475244959 1
61547524990, 2
61547524991, 5
6154752493392 4
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g1 g1 11

(a) Tie () TEea EEEn § e 6 FwH
by TeEeE Gi) foafim A F =

(¢) g U (Hwmd) @i1) faafim D & +=

(d) TRIEIAT (v) g 9w i FHHl

g2l ooy &1 =2 Fifeu

1) (a)-@). (b)-Q). (e)-(1m1), (d)-(av)
2)  (a)-1). (b)-Gi). (c)-G). (d)-(av)
@) (a)-0). (b)-(). (c)-(111), (d)-(2v)
4)  (a)-(i). (b)-(v). (c)-Gi). (d)-()

Options:

615475249589, 1
61547524990 2
61547524991, 5
61547524992 4
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Using Life Table terms of [..D_ . L, etc. match the terms shown in List-I with the

expressions shown in Last-I1.

List-I List-II
(a) Survival rate from age xtox+ 5 (1) ;DI L,
(b) Age specific death rate for ages x to (i) [,
x+o
(c) Probability of death 1n ages xtox+ b (m) ;D_./I,

(d) Population in the beginning to age (v) [ _;/L
x+5H

Choose the correct option :

(1) (2)-(v). (b)-(2). (c)-(111). (d)-(11)
(2) (a)-(11). (b)-(11). (c)-(v). (d)-(1)
(3) (a)-(1). (b)-(iii). (c)-({v). (d)-Gi)
(4) (a)-@v). (b)-(1). (c)-(2). (d)-(11)

Options:

61547524993, 1

61547524994 2

61547524985 3
61547524936, 4
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g1 ° fou v Sfaq arfer w8 [, D, L, 30fe &1 37am &= g1 8 fou v 39% =gesi € gifom
ST :

T g1
@ x¥ x+b5a ah 6l 3§ & AE H G) D/ L
ITEIET =
(b) x¥ x+ 5N T I W & AFHAl & W (i) L,
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EaR:lipETa
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1) (@)-Gv). (b)-(). (c)-(i1). (d)-(1)
2)  (a)-@G). (b)-Gi). (¢)-@v). (d)-@)
B (@)-0). (b)-G1d). (c)-Gv). (d)-(1)
@  (2)-Qv). (b)-Gw). (o)-). (d)-{)

Options:

61547524993,
51547524994,
61547524995,
61547524996,

o LIRS
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Match the following fertility indices given by Coale (1961) with their defimitions :

(a)
(b)
(c)
(d)

List-I

Choose the correct option :

(1 (a)-(iv). (b)-(Gi1). ()-(1). (d)-(11)
(2) (a)-(D). (b)-(13). (c)-(111). (d)-(v)
(3) (a)-(11). (b)-(11). (c)-(v). (d)-(1)
(4) (a)-(11). (b)-(1v). ()-(11). (d)-(@)
Options:

61547524997, 1

E1547524998. 2

61547524999, 5

61547525000 4

Question Number

Correct Marks: 2 Wrong Marks: 0

@
(11)
(i11)
@v)

List-I1
the index of non-marital fertility
the index of marital fertility
the index of proportion married

the index of overall fertility

: 125 Question Id : 6154756409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



@id (1961) gri fou @ Fefofias som= gae &1 3391 afym | gafoa Fifm

g1 gi-11
@ I, @) W FEs yeH g
1) S (i) daTie® TS gEE
© I, (ii) faanfea @ % A F gEEE
@ I, Gv) woq e g
wdl faseg =1 =97 Hifeo .

(1) (a)-w). (b)-(n). (c)-G). (d)-(11)
2)  (a)-). (b)-(). (¢)-(111). (d)-(v)
(3)  (a)-). (b)-(id). (c)-(v). (d)-()
@ (a)-(i), (b)-(v), (0)-(11), (d)-()

Options:

61547524997, 1
61547524998 2
£1547524999 =2
1547525000, 4

Question Number : 126 Question Id : 6154756410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the inter-censal period given in List-I with the corresponding population decadal

growth rate given in List-II.

List-I List-II
(a) 2001-2011 (1) 24.66
(b) 1991-2001 (1) 23.87
(¢} 1981-1991 (1) 17.64
(d) 1971-1981 av) 21.54

Choose the correct option :

(1) (a)-a), (b)-(v). (e)-(G1). (d)-()
(2)  (a)-(11), (b)-(av). (c)-(1). (d)-G1)
3)  (@)-Gv). (b)-(i11), (¢)-(b). (d)-O)
@  (@-Gv). (b)-Gi1). (c)-(). (d)-G1)

Options:

61547525001, 1
61547525002 2
E1547525002. 2
61547525004, 4

Question Number : 126 Question Id : 6154756410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1 | 21 T3 3 ST 3 F gL E € T 39 §a ST ne i ghg § gt St

g1 g 1T

@ 2001 - 2011 G 24.66

®b) 1991 - 2001 Gi) 23.87

© 1981 - 1991 Gin 17.64

@ 1971 - 1981 Gv) 21.54
&l faea &1 =57 Fifem

(1) (a)-Gii), (b)-(v). (c)-(i). (d)-(2)
(2)  (a)-Gii), (b)-(iv). (c)-(1). (d)-(11)
(3)  (a)-v). (b)-Gii). (¢)-(1i). (d)-(2)
@ (a)-Gv). (b)-Gn). (c)-Q). (d)-(1)

Options:

1547525001, 1
61547525002, 2
61547525003 =
61547525004, 4

Question Number : 127 Question 1d : 6154756411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assume that the following data are available.

£ =Population in the beginning of the year 2015
P, = Population in the end of the year 2015
D = Deaths 1n the year 2015

Then match the terms given in List-I with the mathematical expression shown in List-II.

List-I List-II
(a) Risk of mortality in the year 2015 2 2D
@
F, + P,
(b) Survival rates from 2015 to 2016 w F-B
(c) Crude death rate per person (u) D/P
(d) Survivors of the vear 2015 av) B /B

Choose the correct option :

(1 (@)-v). (b)-(1). (c)-(). (d)-(1i1)
2)  (a)-(11). (b)-(v). (c)-G). (d)-(11)
(3)  (a)-G). (b)-Gii). (c)-Gv). (d)-(11)
@ (@)-@w). (b)-(1). (0)-(11). (d)-Q)

Options:

£1547525005,
E1547525008,
1547525007,
51547525008,

o LIRS

Question Number : 127 Question Id : 6154756411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T wife & smest Fefafen smee fow o d .

P, = 94 2015 F WY 7 sHEE

P, = 99 2015 &% 31 § €&

D =44 2015 ¥ g3 &1 98

g1 & fou u wgi <t gL H fou e s wifora ==t @ gafen it

CEis! FI.II
(a) a9 2015 § g &1 SAifaH @ 2D
F+F
(b) @Y 2015 & 2016 T SaLsiiTaar o ) B -P
(¢ uia =gt amiifem g = Gii) D/A
(d) =9 2015 # <fifaq ==twal 1 9@ iv) PB/P
g2 Taesheg &1 =37 Fifem

(1) (a)-(v). (b)-(11). (c)-(). (d)-(111)
(2) (a)-(11). (b)-(iv). (c)-(@). (d)-(11)
(3) (a)-@@). (b)-(11). (c)-(1v). (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(iid). (d)-(@)

Options:

61547525005, 1

61547525006, 2

61547525007, 3
61547525008, 4

Question Number : 128 Question Id : 6154756412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the sources of data given 1n List-I with the information given in List-II.

List-1 List-I1
(a) Census of India (1) Consumer expenditure
(b) National Sample Survey (11) Birth and death
(c) Sample Registration Svstem (1m) Reproductive health
(d) National Family Health Survey (iv) Total Population

Choose the correct option :

(1) (a)-Gv). (b)-Q), (c)-(11). (d)-(111)
(2)  (a)-G). (b)-(1). (c)-(i1). (d)-(v)
(3)  (a)-). (b)-Q). (c)-(v). (d)-(111)
4 (a)-(u). (b)-(11). (c)-G). (d)-(v)

Options:

61547525009, 1
61547525010 2
61547525011, 2
E1547525012. 4

Question Number : 128 Question Id : 6154756412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 # fu o st & A @ gILE & o e s @ g Aif

g1 g 11
(a) ST T ST G)  ITHE =T
(b) T T wEET (i) w9 3 gy
(c) 7T il ST (iii) oA TATEEE
(d) TEH TRER @ e (iv) F THEEAT
T2l fameg &1 =99 Fifem

1) (@)-av). (b)-Q). (e)-(1). (d)-(111)
(2)  (a)-). (b)-(1), (o)-(111). (d)-(v)
(3)  (a)-Q1). (b)-Q), (e)-(v). (d)-(111)
@) (a)-Giu). (b)-(1). (¢)-Q). (d)-(v)

Options:

1547525009, 1
61547525010 2
61547525011, =
61547525012 4

Question Number : 129 Question 1d : 6154756413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following countries in ascending order according to their annual growth rate of

population for the period 2010-19 :

(a) China
(b) India
(c) USA
(d) Brazil

Choose the correct option :

(1) USA. China. Brazil. India
(2) USA, Brazil. China. India
(3) China, USA. Brazil. India

(4) Brazil. USA, China. India
Options:

154752501321

1547525014 2

E1547525015 2

1547525016, 4

Question Number : 129 Question Id : 6154756413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=fcifiga <ui 1 a9 2010-19 F U 391 a1iN® ST Ihg & & AWET 9 J g i :

(a) =M

(b) URd

(©) 3T

(d) FIGIS]

el faeg =1 =97 il ;

(1)  omfE, =fF, Fn, 98

(2)  afeE, g, =4, 9
(3) =, smfe, gwie, Y
(4)  =de, ke, =F, yra

Options:

61547525013, 1
61547525014 2
E1547525015 =2
61547525016, 4

Question Number : 130 Question Id : 6154756414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following four indicators of fertility according to their degree of refinement. low
to high :

(a) Total Marital Fertility Rate (TMFR)

(b) General Fertility Rate (GFR)

(c) Total Fertility Rate (TFR)

(d) Crude Birth Rate (CBR)

Choose the correct option :

(1) CBR. TFR. GFR. TMFR
(2) CBR. GFR. TMFR. TFR
(3) CFR. CBR. TMFR. TFR

(4) CBR, GFR. TFR, TMFR
Options:
615475250171
61547525018 2
615475250149 2
61547525020, 4

Question Number : 130 Question Id : 6154756414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et =) 5= 9= i ged & agEn Fe 8 3= wn § =aEfen il

()  F9F STl T & (< T UH IR)
(b)  EHFE YSHAAI R (S TR 3TR)
(c) & TeHaal & (¥ UF 3N)

(d)  amEnfEe e e (1 oem)

T2t fame =1 =29 Fifw

(1) € &t 3, @1 s IR, S UF A7, d UH UE 3N
(2) € #{R, S U AR, I TH U AR, A TF 7AW
(3) 1 UH AW, € F 3, & UH UF I, I Uk HAR

(4) €91 AR, S Uk IR, 4 UF AR, I Y UF AR

Options:

61547525017, 1
61547525018 2
E1547525019. 2
1547525020, 4

Question Number : 131 Question Id : 6154756415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Rank, from high to low. the following group of states according to their level of TFR
according to SRS 2017 Report.

(1) Bihar, Uttar Pradesh, Madhya Pradesh, Rajasthan
(2) Uttar Pradesh, Bihar. Madhva Pradesh. Rajasthan
(3) Bihar. Uttar Pradesh. Rajasthan. Madhya Pradesh
(4) Uttar Pradesh, Bihar, Rajasthan. Madhya Pradesh

Options:

1547525021, 1
61547525022 2
61547525023 2
61547525024 4



Question Number : 131 Question Id : 6154756415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UF W UH 2017 @i FgER 6 Fefafa o & wggl # a¥ 2017 § 39 @9 geeaT & (d U
W) TR % °ged ®Y (39 § H) d =mafer il .

(1) faer, 3 vew, Teg vey, UeEaH
(2) IR veT, fagr, 77 vew, TeeaH
(3)  foem, 3ot wew, USRI, T v
4) I wew, faEw, UeRemm, e uem

Options:

61547525021, 1
61547525022 2
61547525023 2
E1547525024 4

Question Number : 132 Question Id : 6154756416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following groups of states 1s correctly arranged in low to high sex ratio at
birth according to SRS for the year 20177

(1) Assam. Andhra Pradesh. Karnataka, Chhattisgarh

(2) Assam, Karnataka. Andhra Pradesh. Chhattisgarh

(3) Assam, Chhattisgarh., Karnataka, Andhra Pradesh

(4) Assam, Chhattisgarh. Andhra Pradesh, Karnataka

Options:

61547525025, 1
61547525026 2
61547525027, 2
E1547525028. 4

Question Number : 132 Question Id : 6154756416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=l &1 Fefefon § @ w9-91 9gg 99 2017 & o0 vg 3w vg i ROl % agen 9w & g fom
3T & e A (He & 3=1) 7 =aferq 27

(1) 3199, 37y 959, FAich, TAEE

(2)  379H, FACH, MGTE]. TAEG

(3) W, s, FAlLH, AGTI

4)  FrEE, THAETE, YT, FAICF



Options:

61547525025, 1
61547525026 2
E1547525027. 2
61547525028, 4

Question Number : 133 Question Id : 6154756417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per the SRS 2017 data, which one of following combination of states 1s arranged in
descending order (higher to lower) in their TFR?

(1) Gujarat, Odisha, Kerala, Tamil Nadu
(2) Gujarat, Odisha, Tamil Nadu, Kerala
(3) Assam, Harvana, Chhattisgarh. Jharkhand

(4) Assam, Gujarat, Maharashtra. Andhra Pradesh
Options:

15475250291

15475250230 2

1547525021 2

1547525022 4

Question Number : 133 Question Id : 6154756417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UH I UH 2017 & ATHESI & FGER, T & F=fcfgs § § #5-11 githes 396 999 geAaa @ (4
U 3R) % IR (39 & ) F5 § =aieam 27

(1) 7o, 3iifsEn, e, amang
(2) TR, 3ifsEm, affeEg,

(3) 3194, g, adiere, IEe

4)  3EH, TN, HERIY, HTHHCT
Options:
615475250291
61547525030, 2
61547525021 2
61547525032, 4

Question Number : 134 Question Id : 6154756418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following group of scholars 1s arranged 1n correct order by the year of their

proposed fertility theories?

(1) Caldwell, Leibenstein, Kingsley Dawvis, Becker
(2) Leibenstein, Becker. Kingsley Davis, Caldwell
(3) Becker, Caldwell, Kingsley Davis, Leibenstein

(4) Kingsley Davis, Becker, Caldwell, Leibenstein
Options:

615475250231

61547525034 2

61547525035 2

1547525026 4

Question Number : 134 Question 1d : 6154756418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fagHT &1 Frefafian § 9 #i5-91 998 399 g1 IEaTaq a1 g & 99 & wel 3gwT § sgated 27
(1)  Frsaw, edfie, fErae 2w, 9=
(2) waftEe, 9w, fFea sy, FEdw
(3)  9H, w=aw, fFoe sfam, watta
@) fFae Sfw, 9=, Fedq, sk

Options:
£1547525033 1

E1547525034. 2
E1547525035. 3
B1547525036. 4

Question Number : 135 Question Id : 6154756419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Rank. from high to low, the following group of states according to their level of infant

mortality rate in 2017 (SRS Bulletin) :
(1) Uttar Pradesh, Bihar, Chhattisgarh, Jharkhand
(2) Uttar Pradesh. Chhattisgarh. Bihar, Jharkhand

(3) Bihar, Uttar Pradesh, Chhattisgarh, Jharkhand

(4) Bihar, Uttar Pradesh, Jharkhand, Chhattisgarh
Options:

615475250371

61547525038, 2

61547525029 2



E1547525040. 4

Question Number : 135 Question Id : 6154756419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Al & tforitad @gat ®t 9% 2017 (UH 37K U4, Geifed) ¥ 399 BN g & & T & 39 § 7 HH §
=afeT $I :

(1) I e, fER, stwTe, IREs
(2) I g, SUETE, [HEN, 9RES
(3)  THER, I ¥om, FUETE, AGS
4)  foEw,s™ vou, 9REs, S

Options:

61547525037, 1
61547525038 2
61547525029 2
E1547525040 4

Question Number : 136 Question Id : 6154756420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s the correct sequence of indicators during evaluation?

(1) Input, Process, Impact, Output, Outcome
(2) Input, Process, Outcome, Output. Impact
(3) Input, Output, Process, Output, Impact

(4) Input, Process, Output, Outcome, Impact

Options:

61547525041, 1
61547525042 2
61547525043 =
61547525044 4

Question Number : 136 Question Id : 6154756420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qeaiA & oite Fefofigd § & S gl &1 69 oEe 27
Q)  FEw, s, g, i, e
@)  Few, vhwen, fefg, e, gue
(3)  faw, ffm, wfF, Fed, guym
(4)  Taw, ufsan, ff, s, gum

Options:

61547525041,
61547525042,
61547525043,
61547525044,

o LIPS

Question Number : 137 Question Id : 6154756421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s the correct sequence to write a research report?

(1) Objectives, statement of the problem, data base, methodology, report writing
(2) Data base. methodology, objectives, statement of the problem, report writing
(3) Statement of the problem, objectives, data base, methodology, report writing
(4) Objectives, statement of the problem. methodologv, data base. report writing
Options:

61547525045,
61547525046,

E1547525047.
E1547525048.

o P

Question Number : 137 Question Id : 6154756421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ffefig o & ®iF w9 /O fofgy &1 w8 o gwa 27

(1)  35ev8, 99a &1 f9au, ser v=1 (31 99), gfafe, il omm
(2)  3ATheT §= (ST 99), Uiy, Iggva, g9 & foew, RO oeE
(3)  wwE % fqa, 3oy, Wwsl §= (S 99), waty, il daa
4) 35y, 99eE &1 A, 96ty st gee (ST 99), {9l oee

Options:

61547525045, 1
61547525046 2
E1547525047. 2
61547525048, 4



Question Number : 138 Question Id : 6154756422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled

as (R) :

Assertion (A) : Most of the farmers 1n India are poor
Reasons (R) : Agricultural growth in India i1s stagnant and it fails to provade sufficient
income.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true but (R) 1z not correct explanation of (A)
(2) Both (A) and (R) are true and (R) explains (A)

(3) (A) 1s true, but (R) 1= false

(4) (A) 1s false, but (R) 1s true

Options:

1547525049 1

61547525050 2

1547525051 2

E1547525052. 4

Question Number : 138 Question Id : 6154756422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1= € %o feu o 2 ol @ uw 1 srfiea (A) ofi g o (R) e T 2

TR (A) - ard # e fmam wWe 21
% (R) : g § $iY &1 fawm smeg 2 7w 68 a3 3w gt 2

ST & HIAN & ATCF T Gl [FheT H =99 HINC, ;

(1) (A 3R (R) aFI 721 2 6T (R). (A) 1 w21 = 721 2
2) (A R ®) qF w2 2 3R (R). (A) F1 7l =T

(3)  (A)TH 2, oA (R) Tod 2

@  (A)TeE 2, 9fF R) w9 2

Options:

61547525049, 1
61547525050 2
61547525051, 2
61547525052 4

Question Number : 139 Question Id : 6154756423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Given below are two statements - one 1s labelled as Assertion (A) and the other 1z labelled as

reason (R) :

Assertion (A) : High rate of immigration in European countries 13 changing their ethnic
composition.
Reasons (R) : Getting citizenship through naturalisation 1s easier in Europe.

In the light of the above two statements choose the correct one :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (4)
(2) Both (A) and (R) are true but (R) does not explain (A)
(3) (A) 1= false. but (R) 13 true

(4) (A) 1= true. but (R) 1s false
Options:
15475250531
61547525054 2
E1547525055 2
61547525056, 4
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= g1 o fog v € o @ uw 1 afidem (A) 3k g® =1 7 (R) w7 2

fywE (A) : 70 & 2311 ° ITYATEA 1 I 50 F HR0 981 1 T G § aieda 8 @1 2|

% (R) T o SefEesor grT AR I8 ST 3 2

ST FIAI & ATCE 1G9l f9hed &1 =99 HiT,

(1)  (A) 3k R) 41 g 2 3t (R). (A) F1 gl =are 2
2)  (A) 3t (R)IH T E, S ®). (A) # wF =mE TE 2

(3)  (A)Tem 2, T (R) @8 2

@ Q) 2, e (R) To 2

Options:

61547525053 1
61547525054, 2
61547525055 5
61547525056 4
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Correct Marks: 2 WrongMarks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1= labelled as

Reason (R) :
Assertion (A) : Urban areas usually have lower TFR than rural areas.
Reasons (R) : Access to contraceptive services 1n rural areas 1s low as compared to urban

areas.

In the light of the above two statements choose the correct one :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1z not the only explanation of (4)
(3) (A) 18 true but (R) 1s false

(4) (A) 12 false but (R) 1s true

Options:

61547525057, 1
61547525058, 2
61547525059 2
E15475250E80. 4
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1 3 wom fru o 3 Rl @ o = arfieR (A) ik TR w A (R) w2

FfirRe (A) | T el &9 O wug geeeaT & (3w ) oo &= 6 gemn § e 2

% (R) : wiglt &= 1 g | ardffor & § 7 e g9 %0 1)

ST GHT HIAT & FTEF H Tal fahed & =99 i,

(1)  (A) 3 R) 341 vl E 3R (R), (A) F1 Tl =3meTn 3

(2) (A IR ®) A FE, ST R), (A) T F2 = 69 2

(3) (A =l g o (R) o @

@)  (A)TeE 2 S R) HE 2

Options:

61547525057, 1
E1547525058. 2
61547525059, 5
61547525060 4
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Read the following paragraph carefully and answer questions which follow.

Different terms such as women's ‘status’ women's ‘autonomy women's ‘empowerment’,
‘bargaining power’ and "azency are often used to indicate the position of women 1n society.
Most often. these terms refer to women's position 1n relation to men and to some aspect of
gender inequality. They are based on the 1dea that there 1s gender inequality 1n the society.
thereby resulting 1n an overall lower status or position of women.

Considering the literacy level among Indian states. a wide range of varmations have been
obzerved. There has been a significant increase 1n the literacy rate 1n all states between 2001
and 2011. bringing down the gap between the states. However. a large gap =till remains with
the female literacy rate based on 2011 census. The State with the highest gender gap in
hiteracy rates 1s Madhya Pradesh (20.5% points) and the State with the lowest gender gap 1s
Kerala (4% points). In terms of the overall literacy rate in the state. Madhya Pradesh 1=
better than five other states (Andhra Pradesh. Bihar, Jharkhand. Rajasthan and Uttar
Pradesh). indicating that female Iiteracy has been particularly ignored in Madhva Pradesh.
Incidentally. Madhyva Pradesh 1s also the worst performing state interms of some indicators
of health outcomes such as child mortality rate. IMR and child malnutrition. Tamil Nadu.
West Bengal. Punjab and Kerala are among the top performing states interms of most health

outcome 1ndicators.

It 1z further noticed that there 1= a clear relation between female lhiteracy. IMR and U5MRE.
States with high female hteracy are more likely to have lower IMR. Moreover, the
correlation between female hiteracy and lower IMR 1s higher than what was seen in the case
of the relation between IMR and indicators of economic well-being such as per capita income

or poverty ratios.

Source : Sinha, Dipa (2016). Women. Health and Public services in India. Routledge India.

Sub questions

Question Number : 141 Question Id : 6154756426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following context the word women’s ‘agency’ 1s used ?

(1) women's ability to make choice

(2) women's right to property

(3) women's sufficient representation in policy
(4) women's sufficient representation in politics
Options:

61547525081, 1
E15475250682. 2
61547525083, 3
E1547525064, 4

Question Number : 142 Question Id : 6154756427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following conclusions can be drawn on the basis of the above paragraph?
(a) Female literacy influences the child health positively
(b) Only poverty reduction can reduce IMR

(c) Gender gap in literacy can reveal overall progress in hiteracy

(d) The states with low gender gap in literacy have better health outcomes

Choose the correct option :

(1) only (a). (b) and (c)
(2)  only (a). (c) and (d)
(3)  only (b). (c) and (d)
(4)  only (a). (b) and (d)
Options:

61547525065, 1
61547525066 2

E1547525067. 3
E15475250658. 4

Question Number : 143 Question Id : 6154756428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following State 1= the most poor performing in terms of child malnutrition?

(1) Bihar (2) Jharkhand
(3) Madhva Pradesh (4) Rajasthan
Options:

B1547525069. 1
B1547525070. 2



BE1547525071. 3
B1547525072. 4

Question Number : 144 Question Id ;: 6154756429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s not correct in the context of the paragraph?

(1) Madhya Pradesh has improved overall literacy substantially between 2001 and 2011

census
(2) Madhya Pradesh has improved female literacy more than male literacy
(3) Madhya Pradesh has improved male hiteracy more than female literacy

(4) Gender gap in literacy 1s the highest 1n Madhya Pradesh
Options:

15475250731

61547525074 2

E154752E5075 2

1547525076, 4

Question Number : 145 Question Id : 6154756430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following State 1= among the top performing in terms of health outcome?

(1) Madhva Pradesh
(2) Tamil Nadu

(3) Aszam

(4) Maharashtra

Options:

£1547525077. 1
E1547525078. 2
61547525079, 5
61547525080 4

Question Id : 6154756425 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension



FeAfeiigd esn 1 SIYE 96 31 39 U SEiG I3 % 39 5

SFET T A HiEenadl =1 sEfedta # guE % foe ateenst 1 FAlE (Status). B fi w=mmE—
Sl 2| Sk A TeEe G 6 @e" § 9 SFE GEAEA % $9 Usql 5 Hed d Afeensl i
sAfael F1 37 Tha w21 T 59 HER W a9 2 T e 0 o6 el 9is 2, e gy

==Y oiEena Fi foul @ saterE oo =1 g Hee 2

WA 541 7 HIERA] % T W GEW e W UF A0E 5 H S 9 T A 2001 § 2011 % wen A
Tt F WA 7§ g 55 2, Ed wn = F o # oew g 21 qunt, tzenen £ ggwar @l
arefi off v g7 =R AT 21 2011 I SVET % SHET WA 1 H HAladan o Ug aren TS 95 e
(20.5 wiawd) 7, 3 =Faq o7 95 91 759 (4 9iG9d) 21 U9 % q90 miEEdl o F g5y q 75
TR T 9T S (HFG TR, [9ER, SREvE, T9EUH R 3T UeW) 3 sEd B, F1 9% 59 # 5
T § Afzen e faeEn o TfEe w2 TE, 951 TSN F1 $9 TR F IR 5edl ThaH
aod § o 3w gegw, A% v ww () 9 @) 9 s FAw s H g v @ 2| st

TR Geel Tehasl = UeYH "o ° diiers, 9TEd S, 99 9 e 39 969H A 91 e | ° A

AF T7 T A1 & 76 AfEen @maEar, 99 90 57 (IMR) 9 99 99 ¥ #9991 s= 6 geg &

(USMR) & WeT T2 Ha9 2| 3= Afecl W&Aal 9t Tsa1 8 =09 99 9o @ (IMR) 77 F1 #179F
YA F 2| 55 At 99 g0 7 (IMR) 3 1% FeAm & Gehawl F S, 59 T 9 1 O
71 a1 1 F1 3195 Aiean ARl W oy gee (IMR) & 7ed =00 SeHey &l 2l

Hiq : T, W1 (2016), T, 559 UUS Wiserd TiAES 57 3SAT, Uoeigs g

Sub questions

Question Number : 141 Question 1d : 6154756426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tafafaa 0 & f&w @ 9 ofzensti & US61 (Women's ‘agency’) Yo #1 T T wmaT 27
(1)  TfEesdl &1 ==7E & # JrFal

@)  wfeensii w @raf # SR

(3)  T=m-=gIw § migenat &1 = gidffes

@)  ufgenstt w1 oodifs # vty sfeffs

Options:

61547525061, 1
61547525062 2
61547525063 2
61547525064, 4

Question Number : 142 Question 1d : 6154756427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IR FTTas & JAEn W Fefefas 7 € =57 1 s Feen s gwar 27

(a)  HiEeT G&Eal, I W W gHRchS T9E ST 2

(b) S WeaT H wetdl & 3w 90 5t (IMR) 927 d@hat 21
()  wawar # forr e, WaRar 1 §HE WG i IgTed HLa 2
(d) AT § w5 o 9 91 TSI F T gy 989 2

1)  FaE (a). (b) T (0)
2  F99 (a). (o) T (d)
3)  Fa« (b). () T ()
@) %A (a). (b) T (d)

Options:

61547525065, 1
61547525066, 2
E1547525067. 2
E15475250E88. 4

Question Number : 143 Question Id : 6154756428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I FINT & Ty ° Fefoifag § & fhe 152 %1 999 90 uewE 27

(1) faEm (2) TWETE
(3) T yem (4) T=EIH
Options:

B15475250649. 1
E1547525070. 2
E1547525071. 3
B1547525072. 4

Question Number : 144 Question Id : 6154756429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FFTHT * HeH # et § € FH 6w 76 27
(1) 2001 9 2011 ST & o9 ¥e 4§07 Hi&aT § W €9 € g9R a1 g

@)  Hem wew A Aigen giawan w1 5oy wE 1 g afaw gun a2

(3) T VoF o IEY WIEHA1 # Higen "iawar i ava e gun e 2
(4) T vew 4 wiERal ° fom He orftehan 2

Options:

61547525073, 1
61547525074 2
1547525075, 5
61547525076 4

Question Number : 145 Question Id : 6154756430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@ TR & el 8 efcfag i s g s e U i W27

(1)  ==9 yew

2)  diEEER

(3)  =1Ed
(4)  HERE
Options:

E1547525077. 1
E1547525078. 2
BE1547525073. 3
B1547525080. 4

Sub-Section Number: 3
Sub-Section Id: 615475285
Question Shuffling Allowed : Yes

Question Id : 6154756431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



On the basis of table given below. answer the following questions.

S. No. | Year Total Sex | Population | Decadal Growth | % Urban
Population | Ratio | Density Rate Population
(laks)
1 1901 2384.0 972 77 NA 10.85
2 1911 2520.9 964 82 b.7H 10.29
3 1921 2513.2 955 81 —0.31 1118
4 1931 2789.8 950 90 11.00 11.99
5 1941 3186.6 945 103 14.22 13.86
6 1951 3610.9 946 117 13.31 17.29
7 1961 4392.3 941 142 21.64 17.97
8 1971 5481.6 930 177 24.80 19.91
9 1981 6833.3 934 216 24.66 23.33
10 1991 8464.2 926 267 23.87 26.70
11 2001 | 10287.4 933 325 21.54 27.81
12 2011 | 12108.5 943 382 17.20 31.14

Source : Office of Registrar General of India. NA : Not Available

Sub questions

Question Number : 146 Question Id : 6154756432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following vear total population declined?

(1) 1901 (27 191t
(3) 1921 (4) 1931
Options:

E1547525081. 1
B1547525082. 2
B1547525083. 3
61547525084, 4

Question Number : 147 Question 1d : 6154756433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

During which of the following vear, sex ratio was the lowest?

1) 1901

(2) 1911

(3) 1921

@) 1991
Options::

51547525085, 1
E1547525086. 2
E1547525087. 3



E1547525088. 4

Question Number : 148 Question Id : 6154756434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During which of the following years. population density declined from previous census year?

(1) 1901
@ 1921
3) 1911
4) 1931
Options:

61547525089, 1
E1547525080. 2
E15475250381. 3
B1547525082. 4

Question Number : 149 Question Id ;: 6154756435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
During which of the following yvears, decadal growth rate was negative?

(1)  1901-11
@2  1911-21
(3)  1921-31
@)  1931-41
Options:

61547525032 1
61547525034, 2
E1547525085. 3
E15475250396. 4

Question Number : 150 Question Id ;: 6154756436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



During which of the following vear, gap in population density from previous year was the

least?

(1) 1961
(2) 1921
(3) 1931
(4) 1911

Options:

1547525097,
61547525098,
61547525099,
61547525100,

L N

Question Id : 6154756431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

I 21 2 afei % SYE W HeEieiad 9vai % 39 A

FAA. | AT | T T (W) | o S | S e | A 3G & | % e Seeen
1 1901 2384.0 972 17 NA 10.85
2 1911 2520.9 064 82 5.76 10.29
3 1921 2515.2 955 81 —0.31 11.13
4 1931 2789.8 9350 90 11.00 11.99
5 1941 3186.6 045 103 1422 13.86
6 1951 3610.9 046 117 13.31 17.29
7 1961 4392.3 041 142 21.64 17.97
3 1971 5481.6 930 177 24.80 19.91
9 1981 6835.3 034 216 24.66 23.33
10 1991 8464.2 926 267 23.87 25.70
11 2001 10287.4 033 325 21.54 27.81
12 2011 12108.5 043 382 17.20 al.14

HIF : FEE, YU B GEEA=E, NA @ 30w 965

Sub questions

Question Number : 146 Question Id : 6154756432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tmaforfign § @ 58 a¥ oo sHeea § 5 2977 2 7

(1) 1901
(3) 1921
Options:

61547525081, 1
E1547525082. 2
E1547525085. 3

2)
(4)

1911
1931




E1547525084. 4

Question Number : 147 Question Id : 6154756433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Feferiig o & | 9 fom g =00 @1 27

(1) 1901
@ 1911
3) 1921
@ 1991

Options:

61547525085, 1
61547525086, 2
E1547525087. 3
E1547525088. 4

Question Number : 148 Question Id : 6154756434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

trafafgn 0 & g 9¥ s 990 fiec 99 1 go |§ #5 =917

(1) 1901

(2) 1921

(3) 1911

(4) 1931
Options:

E1547525089. 1
61547525080, 2
61547525081, 3
61547525032, 4

Question Number : 149 Question Id : 6154756435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



F=fcrfign § ® e a9t 4 Swaen 6 g afg @ Foos A7

(1)  1901-11
@  1911-21
(3)  1921-31
4) 193141

Options:

1547525093, 1
61547525094, 2
61547525095 =
61547525096 4

Question Number : 150 Question Id : 6154756436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=it & ® e 9d fogs ad i go § S8 9909 1 3791 =908 417

(1) 1961

(2) 1921

(3) 1931

(4) 1911
Options:

61547525087, 1
61547525038, 2
E1547525088. 3
E1547525100. 4



